24 24
ZAh 1t 3 ZAh 1t 3

Motion Control Motion Control

eSS EIIT Product performance parameters are as follows RE-fTEMLEE] Acceleration-payload relationship HNR

/ " HCR
==
/EERE o o Cooe
Repeat Accuracy EEE{M‘*E E (mm) i i\ ) o IKF AMEBER horizontal, side use HNB
+0.05 L3A%%3E (mm) Rated Speed (rpm/min) 500 1000|1500 2000 2500 3000 20 HCB
mm . %
%%EE (mm/s) Maximum speed (mm/s) 1160 | 2300 | 3500 | 5600 | 5800 | 7000 16 HNT
RAAMESE JKFAER (kg) Horizontalkg) | 20 | 16 10 | 8 | 6 | 3 Xvz
Maximum Payload 10
542 (mm) lead (mm) 140 ﬁz ONB
#Wg 8
E*ﬁjﬁﬂ (N) Rated thrust (N) 46 E;
&
K HEATER (mm) stroke pitch (mm) 150~3050mm;/100 [&F& cap 100mm 6 —
GCB
ACEBREIABE (W) Acservomotoroutput (w) 400 3
GCBS
0
BZHBEEE (mm) seltwidth (mm) 23 1160 2300 3500 5600 5800 7000 e
BEFLEE (mm/s) Maximum speed (mm/s)
BNIMEELEH (mm) High rigidity linear guide(mm) 15X12.5 ESR
WU EERRHIESE THANERBAERTREE).
5% 4 *Please refer to the moment diagram below.(Do not reach all maximum EMR
J?\o"n;\e’;ngrgg Oguts};i:e 672(N PN) value at same time.)
EHR
1 DIANREIZEO.4FD 0
31 Acceleration and deacceleration value is set 0.4 second. K
SR
B SIFER N.m Allowable overhan ZHEREE Installation diagram NP
g 8! S
DDR
%TE*EME)E%@WE%&E M5 nuts Qty. (by stroke) up locking plate lj H R%:fﬁﬁ*?e
. Lastmen | TR 720\ dta
BHATIE stroke 150~950 150~1450 150~1950 2050~2450 2550~3050 =
I down locking plate
& Quantity 6 8 10 12 16 ~— THIXEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIBESINEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
RIFAFHIFER Nm Allowable overhang BESATFRHRE Static loading moment
HER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
3050mm 7000mm/s 400W 23mm 15X12.5-1% ¢ A .
[+
B
(B {IUnit:mm) (8 {IUnit:mm) (B4IUnit:N.m)
3 LR %= LORE
ﬂ%ﬁi’sﬁiﬁ Ordering method Horizzﬁxﬁﬁation Spee?%r;um HorizFrrJ\Eﬁzsta%ation Speed Maximum R 45
3kg 7000mm/s - - - 3kg 7000mm/s - - - MP 46
6kg 5800mm/s = = = 6kg 5800mm/s = = = MR 10
S| &g | seoommjs | - - - S| skeg | seoomm/s | - - - HERFRTORIE REE D,
- - - — — — — - - 5 5 Thetorquevalueinthe chartindicate the center of gravity.
140 10kg 3500mm/s 570 138 185 140 | 10kg 3500mm/s 10 40 150 AR RABAE S IXA T, RIEFH 79100002 2,
Lead 16k 2300 Lead 16k 2300 Operation life is 10,000km when the product is using under the specified conditions.
— - - g mm/s | 335 | 67 | 85 g mm/s | 8 | 38 | 120 “BRERE AR N ERAEARALS.
20kg 1160mm/s 238 40 52 20kg 1160mm/s 8 35 100 The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.

B8 7 BT -
Eiend ot EfAARDIE—¥IFR Suitable motor brand
R oo v g, .
751 G: LT FaHLINE ST HEBFE DREE BRRE ARDERES s S
Motor direction ¥: threaded hole = Custom/special processing Brake Motor capacity AC-Voltage Servo motor model Driver Model
: countersunk hole N
DL HiLAEM ot igiggw .
M ’ = . = TR ZE(KFERE
N 3 semisea Sz DR EBHAMN 75- 750W — M (O 400 220 HG-KR43 MR-J4-40A
C £H I rul seal Eead MR BN BRI .
H B usope 140mm ML SBHIME 8 1K: 1000w
O BRHL entype | LP EHSNEEMT S T . #E P Nt k) 400 220 MHMD042G1U MBDHT2510
E BT electric cylinder LU EBANEEM LS Sl anns ’ anasonic
L BT Linear motor RP HASNE BT \ , HerRR
K SREAELA wgh gy 150:3050mm  pU mMABANLA 1y e B ai FRIZE (KT
ZH High rigidity linear actuator = M =2 vitsubishi . =} A IKFT _ - -
G MHERTVRLA suiltin rail linear actuator (iEf@100mm) DL Motor leftside v gy b NZNPN Delta T No brake (horizontal type) 400 220 ECMA-C20604ES ASD-B20421-B
Gap 100mm DR Motorright side LI Yaskawa P: PNP
D fEI S HR4R simple linear actuator MR Motor external right side H  FI ueea 3PCS
X N N Motor external left side
M B SRBEHE S5 oirect drive rotary motor LMI: Motor external lower left T &3 pelta FTHRIC 1 TE None
LU Motor external upper left I REM reducer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY 17 55 ff o E iE WM I e




% ’ Eléﬁmﬁﬁﬁgﬂ Semi-sealing Belt Driven Linear Actuator O N BGO Series X _,n 2 : | %

Motion Control Motion Control
BALAEM/ AN
Motor left side / Motor right side IR
K | EBALEM Motor left side %{ﬁ:umt:m} %u .LD\ IJ\i%ﬁ Knowledge classroom HCR
HNB
" —h
. Hee
“ == = — HNT
u FRAMAE LA 455 =2 Feature of Belt Driven Linear Actuator
—la
RRAR A BB ARBHS B H H— IR ITHRR L= &, B AERBY IR o RieR ELEEH, B FERE &
[ ER R-FETREDRITE, FBHEEUTS), BRI EER TS REEIES, B BT, EHiE N, TN SHEER
‘ ] ZKinm,
ZEREBNAT80_, 200 ARATHE valid stroke AR 80 Belt driven linear actuator is a modular product that integrates servo motor and synchronous belt, which transforms the rotary motion of servo o
Tef't Lipi 180 __ LAFARS10MM safe distancelOmn vight JinitS0 motorinto linear motion, and at the same time transforms the best advantages of servo motor-precise speed control, precise revolution control
2 @j‘]@ ® and precise torque control into-precise speed control, precise position control and precise thrust control; And realize high-precision linear GCBS
. motion. _
.‘&* GCRS
. . _ . , ESR
16200 2x 6 KRFR AR 2H Bl #1455 &= Innovative feature of Belt Driven Linear Actuator
= EMR
2| 9 i T
T qe|epe |0 I . .
2.%l 14. 60 %‘ Rt St 1 ” BUFTHF S —: Innovative feature 1: e
8 x 6 BRIt ERERTEADN, TERMEMNNYE, SWRENE, FEREVEIZERNTSE, ESRS E, RREM A& KSR
PREBHARERER *Excluding motor and mounting plate weight iEJ iﬁﬁﬂﬁﬁgtgis )\’l&ﬂ.’liﬁi‘l-o LNP
BRI The finite element stress analysis is used in the profile design to simulate the stiffness and structural stability of the profile. The non-bearing
Siela surface should be thin whereitis thin and thick whereitis thick, reducing the weight of the profile body, with strong actual bearing capacity and —
L 520 620 720 820 920 1020 1120 1220 1320 1420 1520 1620 1720 1820 1920 humanized design. aﬁiﬁ
KG 5.1 5.6 6.1 6.6 7.1 76 8.1 8.6 9.1 9.6 10.1 10.6 111 116 12.1 Bl 4% 5 = Innovative feature 2: data
— BRICAFMERITULRIFET, EEMNMEL AR, FAERATEMERER, ERANBRE—REEN, N5E
S RAZ MM AZE, EATLUE IR AR EMEBTTRE .
t 2020 2120 2220 2320 2420 2520 2620 2120 2820 2920 3020 3120 3220 3320 3420 At present, in the environment of photovoltaic and lithium battery industry, when the vertical and side hanging loads are large, the width and

KG 12,6 13.1 13.6 14.1 14.6 15.1 15.6 16.1 16.6 17.1 17.6 18.1 18.6 19.1 19.6 structure of the module are not changed, and an auxiliary rail is installed at the side of the module to strengthen the lateral moment of the
module, which can also increase the strength and operational stability of the module.

FHH EHAS0RERTIRUL, SHIERASA, TR, AT TRNIR. BEK, ERERKA, AEEELT,
LbE B RARIE AR, BRIF B,

Semi-enclosed, fully enclosed 80-width series and above, with high guide rail, variable load design and strong load-bearing capacity. The

nNYe

BUFTHF 2 = Innovative feature 3:
§ EE*”;E{'J:"J Motor right side ﬁ{l"L:Unit:m\

—-n sliding seat is long, the contact area is large, and under the same cantilever condition, the shaking is smaller than that of the ordinary low-
assembly module, and the static allowable torque s larger.
sl e - BUFF4F =0 : Innovative feature 4:
i - FRERM 2 SR, £ FEA, BERNER A UE R0, FEBIRE NS, B &P &P,
ﬂ L/ \| All European semi-closed actuator, fully closed actuator, and both sides of the sliding seat can be centrally oiled, and there is no need to
— disassemble the belt and steel belt, thus reducing the maintenance cost of customers.
r : . BUFTHF S Innovative feature 5:
Emﬁl 80, 200 TR valid stroke EHKZRITRANERF, F—BKE, EZREREE, BHLERMELASE, BHERLT, B&HRBENETKE

left 1ipit80 |

‘ e B 10MM . right Jimit80 .
BARHE safe distancelOmm t*m?ﬁo

7= 2 The belt tensioning design adopts double-layer protection, the first layer is tensioned and the second laminated plate is fixed to prevent the
65 belt from jumping teeth and the belt tensioning block from falling off under the condition of high speed and overload of Belt driven linear
actuator.
BUFTHF 75 ¢ Innovative feature 6:
BRAR AR R ERE, RA= M EIQITBREBESE, AR EXEN R TP AR EZERETE, £ .
513 Belt driven linear actuator is easy to install, and three sides of the actuator are designed with slider nut grooves, and any three sides can be
2.5% 4. 60 installed optionally. Customers do not need to consider the installation space, and the structureis simplified.
BIFTHF s ¢ Innovative feature 7:
CREBNHMRERES “Excludi unti wei s N N N
el Tt e ARty e BRAFHAEE, REREEASEMAND, —ERELREEASRER, HLESYHENRALAER,

BRITE . . . . . - . .
suoEei The semi-closed belt drives the linear actuator, and the belt width is large and the profile is open. To some extent, the beltis used instead of the
cover plate to prevent foreign objects from entering the module.

L 520 620 720 820 920 1020 1120 1220 1320 1420 1520 1620 1720 1820 1920
KG 5.1 5.6 6.1 6.6 7.1 7.6 8.1 86 9.1 9.6 10.1 10.6 111 116 121 BUFTHER /N Innovative feature 8:
- BRAEE BN REA R, I UEREN A RERE, B F I UEAEMBER, BB ERTE, T, AR BN
BRI ey
N E"JE?%E: I%M: IEJ$O
L 2020 2120 2220 2320 2420 2520 2620 2720 2820 2920 3020 3120 3220 3320 3420 Theinstallation direction of European-scale group motor can be installed in any four directions, and the wheels can be used as couplings, which

K KG 126 131 136 141 146 151 156 161 166 171 176 181 186 191 196 / K reduces the lateral space of customers, saves costs and increases the torque of the motor, with high efficiency and high rate. /

3% -8 € M ——"

—— IR ES-E S M A




24 24
ZAh 1t 3 ZAh 1t 3

Motion Control Motion Control

eSS EIIT Product performance parameters are as follows RE-fTEMLEE] Acceleration-payload relationship HNR

/ " HCR
==
/EERE o o Cooe
Repeat Accuracy EEE{M‘*EE(mm) i i\ ) o IKF AMEBER horizontal, side use HNB
+0.05 TLIARREE (Mmm) Rated Speed (rpmjmin) 500 |1000| 1500 | 2000 2500 3000 25 HCB
mm . %
%%EE (mm/s) Maximum speed (mm/s) 1400 | 2800 | 4300 | 5700 | 7100 | 8500 18 HNT
%*E'”ﬂ&li% IKFAEF (kg) Horizontal(ke) | 25 18 10 6 5 2 XYz
Maximum Payload 10
= (mm) lead (mm) 170 ﬁg ONB
#Wg 6
E*ﬁjﬁﬂ (N) Rated thrust (N) 71 E;
&
FRAEFTAZ (Mm) Stroke pitch (mm) 150~3050mm/100 iR 100 mm pitch ° GCR
=] GCB
ACEBREIABE (W) Acservomotoroutput (w) 400 2
GCBS
0
BZHBEEE (mm) seltwidth (mm) 38 1400 2800 4300 5700 7100 8500 e
BEFLEE (mm/s) Maximum speed (mm/s)
BNIMEELEH (mm) High rigidity linear guide(mm) 20X17.5 ESR
WU EERRHIESE THANERBAERTREE).
Eﬁ@mgg 9}4}__ 672 ( NP N) '\Ijﬁ::;rzfaer:‘:)ﬁl;ee?oment diagram below.(Do not reach all maximum EMR
Home sensor Outside
EHR
1 DIANREIZEO.4FD 0
31 Acceleration and deacceleration value is set 0.4 second. K
SR
B HESIFER N.m Allowable overhang LT EE Installation diagram e
DDR
STIEMSEER IR uplocking ot y 1 feerenc
1712 25 M5 nuts Qty. (by stroke) oc eference
= Lastmen | TR 720\ dta
BHATIE stroke 150~950 150~1450 150~1950 2050~2450 2550~3050 =
I down locking plate
& Quantity 6 8 10 12 16 ~— THIXEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIBESINEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
RIFAFHIFER Nm Allowable overhang BESRFRHRE Static loading moment
HER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
3050mm 8500mm/s 400W 38mm 20X17.5-1% ¢ A .
[+
B
(B {IUnit:mm) (8 {IUnit:mm) (B4IUnit:N.m)
3 LR %= LORE
ﬂ%ﬁi’sﬁiﬁ Ordering method Horizzﬁxﬁﬁation Spee?%r;um HorizFrrJ\Eﬁzsta%ation Speed Maximum R [
2kg 8500mm/s - - - 2kg 8500mm/s - - - MP 71
Skg 7100mm/s = = = Skg 7100mm/s = = = MR 20
TPA-ONB-80-170-L3050-DL-Y-P40B-N3-F f e | e |
- - - — — — — - - Thetorquevalueinthe chartindicate the center of gravity.
170 | 10kg 4300mm/s | 300 60 80 170 | 10kg 4300mm/s | 300 60 80 HARSAENERRA T, RIEFHH100002 2,
Lead 18K 2800 Lead 18K 2800 Operation life is 10,000km when the product is using under the specified conditions.
_ _ g mm/s | 200 | 30 | 60 8 mm/s | 200 | 30 | 60 IR EREA SRS AR REEIRTLS.
25kg 1400mm/s 100 10 30 25kg 1400mm/s 100 10 30 The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.

mmh# A TR NATE 5
Eend M EfAARDIE—¥IFR Suitable motor brand
R el & Tk .
751 G: LT FaHLINE ST HEBFE DREE BRRE ARDERES s S
Motor direction| Y: threaded hole 2 Customyjspecial processing Brake Motor capacity AC-Voltage Servo motor model Driver Model
: countersunk hole .
DL HiLAEM ot igiggw .
M ’ = . = TR ZE(KFERE
N #it!ﬂsm.sgm =42 DR EBHAM 75+ T50W e M Nobrake(,gmn;wp)e) 750 220 HG-KR73 MR-J4-T0A
C £H I rul seal Eead MR BN BRI N
H BF sstype 170mm ML EBHISNE A3 1K: 1000W
O BRH entype L LP BMSMEEMTA T e P Nt k) 750 220 MHMD082G1U MBDHT3520
E BT electric cylinder LU EBANEEM LS Sl anns ’ anasonic
L ELZEEH Linear motor RP BHSME AN TS \ , HRaSR
K SREAELA wgh gy 1503050MM  pu SMABARLAE 4 om e — ai ERIE (KT
2H High rigidity linear actuator B M =2 vitsubishi K a FZE (KT } : B
G PIHRTBEA suitinai near actuator (BFBLO0MM) oL Motorlefeside Ty N:NPN petts T Nobrake (hoizonialype) 70 220 FCMA-C20807ES ASD-B20721-8
Gap 100mm DR Motorright side Y & vaskawa P: PNP
D fE S HELR simple linear actuator MR Motor external right side H  FI ueea 3PCS
> " N Motor external left side
M B SRBEHE S5 oirect drive rotary motor LMI: Motor external lower left T &3 pelta FTHRIC 1 TE None
LU Motor external upper left 1 OEEA reducer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY 17 55 ff o E iE WM I e




7=\
2 AH 1% %

Motion Control

BALA M/ EBANAN

Motor left side / Motor right side

’ Eléi‘j' I‘Zﬂ &%ﬁgﬂ Semi-sealing Belt Driven Linear Actuator

/‘ ’ EBANLZM Motor left side

M8 T-Nut
3 MBT Y 1}
—A
. == .
= =l
= =

CAEHEHAREIREE *Excludingmotor and mounting plate weight

] I — ———
s fml=] 0 ———
80
93.70
170 2x @6
140 of
4.50 80/ ©
o U ; T
N
ip | [T LTI 1]
250 I 8 x M6

ﬁ{ﬁ:Unit:mh

BHITE
Stroke
L 572 672 772 872 972 1072 1172 1272 1372 1472 1572 1672 1772 1872 1972
KG 114 12.1 12.8 135 14.2 14.9 15.6 16.3 17 17.7 184 19.1 19.8 20.5 21.2
BRITE
Stroke
L 2072 2172 2272 2372 2472 2572 2672 2172 2872 2972 3072 3172 3272 3372 3472
k KG 21.9 22,6 2583 24 24.7 25.4 26.1 26.8 275 282 289 29.6 30.3 31 Sl j
/‘ ’ EE*J‘LEMIJ Motor right side B :Unit: m}
M8 T-Nut
3 B SEMT AL BR 5
—A
= =1
| & 5
= =|
-l
L
e BR101, 215 . A 34T RE valid stroke L AitRBR96

80
93.70
4.50
o M
2
2.50 7

PREBHMEEIRER “Excluding motor and mounting plate weight

2242 FE B 10MM safe distancelOmm

right |imit96

10 sy 06
140
80 3
= i |
i ! 1]
|
8 x M6

BXRITE
Stroke
L 572 672 72 872 972 1072 1172 1272 1372 1472 1572 1672 1772 1872 1972
KG 114 12.1 12.8 35 14.2 14.9 15.6 16.3 17 Aghatf 18.4 19.1 19.8 20.5 212
BHRITE
Stroke
L 2072 2172 2272 2372 2472 2572 2672 2172 2872 2972 3072 3172 3272 3372 3472
24.7 254 26.1 26.8 215 282 289 29.6 30.3 31

k KG RIS 226 233 24

317 /

3% -8 € M ——"

O N 880 Series

2Aa

A4ty

Motion Control

—— IR ES-E S M A

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data



=24 24
A% o A% o

Motion Control Motion Control

FalEEESEIIT Product performance parameters are as follows RE-fTEMLEE] Acceleration-payload relationship HNR

4 " HCR
4=y
/EERE —— o e
Repeat Accuracy EEE{M‘*E E (mm) i i\ ) - IKF AMEBER horizontal, side use HNB
+0.05 L3A%%EIE (mm) Rated Speed (rpm/min) 500 [1000| 1500 2000 2500 3000 30 HCB
mm . i e
%%EE (mm/s) Maximum speed (mm/s) 1900 | 3900| 5800 | 7700 | 9700 [11600 23 HNT
RAAMESE JKFAER (kg) Horizontaltkg) | 30 | 23 | 18 | 10 | 3 | 1 Xvz
Maximum Payload 18
S42 (mm) tead (mm) 232 ot ONB
#mg 10
E*ﬁjﬁﬂ (N) Rated thrust (N) 51 E;
&
FRAEFTAZ (Mm) Stroke pitch (mm) 150~3050mm/100 (&R 100 mm pitch : GCR
GCB
ACEBREIABE (W) AcCservomotoroutput (w) 750 1
GCBS
0
BZHBEEE (mm) seltwidth (mm) 50 1900 3900 5800 7700 9700 11600 e
BEFLEE (mm/s) Maximum speed (mm/s)
%muﬁggﬁ%m (mm) High rigidity linear guide(mm) 25X22 ESR
WU EERRHIESE TANERBAERTREE).
5% 4 *Please refer to the moment diagram below.(Do not reach all maximum EMR
J?\o"n;\e’;ngrgg Oguts};i:e 672(N PN) value at same time.)
EHR
1 DIANREIZEO.4FD0
31 Acceleration and deacceleration value is set 0.4 second. K
SR
BIFAEHTIFER N.m Allowable overhan ZHEREE Installation diagram LNP
g 8! S
DDR
KAITIEMSSRIRIBEE M5 nuts Qy.(by stroke) up locking plate 17 h (==t
. ' Lasteen | TR 720\ dta
BRATIE stroke 150~950 150~1450 150~1950 2050~2450 2550~3050 =
I down locking plate
#48 Quantity 6 8 10 12 14 ~— TFHiEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIS INEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
RIFHAFHIFER Nm Allowable overhang BESRTFRHRE Static loading moment
HEER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
3050mm 11600mm/s 750W 50mm 25X22-1% ¢ A .
s [o]
(B {IUnit:mm) (B {IUnit:mm) (B4IUNit:N.m)
%z LIRE [l ZIRE
gg%;_eitjj_it Ordering method Horizz}rﬁzﬁﬁation Spee?’bﬁf;um Horizﬂ!\Eﬁtﬁation Speed Maximum Ry Sl
1kg 11600mm/s - - - 1kg 11600mm/s - - - MP Sl
3kg 9700mm/s = = = 3kg 9700mm/s = = = MR 27
S| lokg | 7700mmjs | - - - S| lokg | 7700mmjs | - - - HERFRTRIEREE D,
- - — - - - - - - 5 5 Thetorquevalueinthe chartindicate the center of gravity.
2321 18kg 5800mm/s = = = 2321 18kg 5800mm/s - - - HABRIEWE R LA T RIESHAL00002E,
Lead 23k 3900 Lead 23k 3900 Operation life is 10,000km when the product is using under the specified conditions.
— - g mm/s | 180 | 35 | 40 8 mm/s | 180 | 35 | 40 BREREAE RIS B BRAERALS,
30kg 1900mm/s 100 20 30 30kg 1900mm/s 100 20 30 The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.

G h8 2 R

Brand

AT

Body Width

CEIARSIA—E 3R Suitable motor brand

BEH Belt reren é %ﬁ% EDRES - HEST =3y R e ARDXES WapRi S
DL LM ' :
2t 2 o A 7s: 150 i | ZURAIED,
H B ssupe 232mm ML FHISME 27 1K: 1000W
E B oo TPt R - i e S e etal
; %ﬁggig ot 150-mm RP BHINE AN TS P T panssonic GJLEBRE .
@
D B ZHEA Sirip\elinearactualor MR Motor external right side H R nera ' 3PCS
M ELIEHERE 3K virect drive rotary motor ?ZL EEEE{:WL“.I% T eﬁ;ena FATAZ 1 T none
JREM reducer

RP Motor external lower right
RU Motor external upperright

A I 2% S-S M I Ty . WY X 55 ff o E iE WM I




’!%@ﬁ) ’ éléi‘fl‘flﬁ'ﬁﬁgﬂ Semi-sealing Belt Driven Linear Actuator O N BlOO Series & | S | : m

A4ty

Motion Control

Motion Control

BALA M/ EBANAN

Motor left side / Motor right side

HNR
/‘ ’ EBANLZM Motor left side %{ﬁ:Unit:mh —

M8 T-Nut HNB
AENST A2 -4
=| HCB
|
= HNT
- ~ L
TeAEPR120, 270 .. i SATRE valid stroke o AiEER 120
left Jimit120 iéﬁﬁ%loMM safe distancel0mn right|limit120
o
= 728 GCB
GCBS
100

GCRS

T ESR

EMR

|
9]z [ 1]
! _12.50
KSR
CAEHEHAREIREE *Excludingmotor and mounting plate weight LNP
BHITE
Stroke DDR
L 670 770 870 970 1070 1170 1270 1370 1470 1570 1670 1770 1870 1970 2070 SEHK
Reference
KG 28] 23.7 24.4 73,0 25.8 26.5 27.2 27.9 28.6 253 30 30.7 314 1375 328 data

BHRITE
Stroke

L 2170 2270 2370 2470 2570 2670 2770 2870 2970 3070 3170 3270 3370 3470 3570

k KG ES 34.2 349 35.6 36.3 37 B 384 SOM) 39.8 40.5 41.2 41.9 42.6 43.3 j
/‘ ’ EE*J‘LEMIJ Motor right side B :Unit: m}

M8 T-Nut
SR CEH RS T AR B —A
|
—
[y L
JEARBR120, 270 15 AT FEvalid stroke . AiFEER120
left limit120| A BEE 10MMsafe distancelOmn right(1imit120

100

* LI LT [ 1]
§ = % 8 x M8

PREBHMEEIRER “Excluding motor and mounting plate weight

BXRITE
Stroke
L 670 770 870 970 1070 1170 1270 1370 1470 1570 1670 1770 1870 1970 2070
KG 23 23.7 244 25.1 25.8 26.5 272 27.9 286 29.3 30 30.7 314 B2A) 3238

BHRITE

Stroke

L 2170 2270 2370 2470 2570 2670 2770 2870 2970 3070 3170 3270 3370 3470 3570

k KG &3 342 349 35.6 36.3 37 i 384 39.1 39.8 40.5 412 419 426 433 / K /

A I Y% Sh-8 & M a—" —— IR ES-E S M A




=24 24
A% o A% o

Motion Control Motion Control

FalEEESEIIT Product performance parameters are as follows RE-fTEMLEE] Acceleration-payload relationship HNR

4 " HCR
4=y
/EERE —— o e
Repeat Accurac! EEE{M‘*E E (mm) i i\ ) - K AN 5 A horizontal, side use HNB
P y
+0.05 L3A%%EIE (mm) Rated Speed (rpm/min) 500 |1000| 1500 2000 2500 | 3000 35 HCB
mm . %
%%EE (mm/s) Maximum speed (mm/s) 2100 | 4300 6400 | 8500 10700/12800 20 HNT
%*E-"}ﬂ&li% 7}(3’2@% (kg) Horizontal (kg) 35 20 10 6 2 1 XYz
Maximum Payload 10
= (mm) lead (mm) 256 ﬁ% ONB
#Wg 6
TEAEHEST (N) Rated thrust (N) 47 5
&
FRAEFTAZ (Mm) Stroke pitch (mm) 150~4050mm;/100 (&P 100 mm pitch ? GCR
GCB
ACEBREIABE (W) AcCservomotoroutput (w) 750 1
GCBS
0
BZHBEEE (mm) seltwidth (mm) 60 2100 4300 6400 8500 10700 12800 e
BEFLEE (mm/s) Maximum speed (mm/s)
%muﬁggﬁ%m (mm) High rigidity linear guide(mm) 30X26 ESR
WU EERRHIESE TANERBAERTREE).
5% 4 *Please refer to the moment diagram below.(Do not reach all maximum EMR
J?\o"n;\e’;ngrgg Oguts};i:e 672(N PN) value at same time.)
EHR
1 DIANREIZEO.4FD0
31 Acceleration and deacceleration value is set 0.4 second. KSR
BB IIFER N.m Alowable overhang REETREE Installation diagram LNP
DDR
%’?ﬁ'*iMsEﬁﬂ?mE%ii M5 nuts Qty. (by stroke) up locking plate lj H R%fﬁﬁ*?e
. Lasteen | TR 720\ dta
BRATIE stroke 150~950 150~1450 150~1950 2050~2450 2550~4050 =
I down locking plate
#48 Quantity 6 8 10 12 20 ~— TFHiEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIS INEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
RIFHAFHIFER Nm Allowable overhang BESRTFRHRE Static loading moment
HEER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
4050mm 12800mm/s 750W 60mm 30X26-1% ¢ A .
[o]
B
(B {IUnit:mm) (B {IUnit:mm) (B4IUNit:N.m)
%z LIRE [l ZIRE
gg%;_eitjj_it Ordering method Horizz}rﬁzﬁﬁation Spee?’bﬁf;um Horizﬂ!\Eﬁtﬁation Speed Maximum Ry o
1kg 12800mm/s - - - 1kg 12800mm/s - - - MP 47
2kg 10700mm/s = = = 2kg 10700mm/s = = = MR 10
S| 6kg | ssoommjs | - - - S| kg | ssoommjs | - - - HERFRTRIEREE D,
- - — - - - - - - 2 2 Thetorquevalueinthe chartindicate the center of gravity.
78 | 10kg 6400mm/s = = = 78 | 10kg 6400mm/s - - - HABRIEWE R LA T RIESHAL00002E,
Lead 20k 4300 Lead 20k 4300 Operation life is 10,000km when the product is using under the specified conditions.
T T T e A U i g mmfs | - | - | - R ERE AR DA BRI EWRA S,
35kg 2100mm/s _ _ _ 35kg 2100mm/s _ _ _ The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.

GahE & FR NATE "
Brand Body Width EfAARDIE—¥IR Suitable motor brand
RIH Belt Y BaEL =
e G: kAL L% e HEBE ERET RE ARDSLS e LT
Motor direction Y: threaded hole DL AHHOWEK cUSmmspe‘dmpmcessing Brake Motor capacity AC-Voltage Servo motor model Driver Model
: countersunk hole :
DL LN ot oo -
N 324 Fsemi seal s DR B4 75 750w M_t:b§_hv M (O 750 220 HG-KRT3 MR-J4-T0A
C £ EF rullseal Lead MR 45N I N e
H B ssope 256mm ML B HLSNE ZE 8 1K: 1000w
O BRHL entype | LP EHSNEAEM TS T B P e cowiea ) 750 220 MHMD082G1U MBDHT3520
E BRAT cectric cyinder LU sB#HSMNE &M £ 7 ey panasenic b personatpe
L B E Linear motor RP EBHINEEM TS s ) JEER KA
K BB vigh gy 150-4050mm  pu SARANLER N o S ai FRIE(RTR)
ZH High rigidity linear actuator _ ) M = itsubishi . a Hl IKHFT R n N
G PIERTUAR LA suiltin raillinear actuator (/EPE100mm) DL Motor leftside Y .—H§ Hitsubin N:NPN Delta U No brake (horizontal type) 750 220 ECMA-C20807ES ASD-B20721-8
Gap 100mm DR Motorright side LI vaskawa P: PNP
D fE SRR simple linear actuator MR Motor external right side H R wcea 3PCS
> " N Motor external left side
M BIRHEHE DK irect drive rotary motor [APL Motor external lower left T A& peta TAFIR T None
LU Motor external upper left I RIEA reducer

RP Motor external lower right
RU Motor external upperright

A I 2% S-S M I Ty . WY X 55 ff o E iE WM I




m ’ ¥§TWE%*§2§ Semi-sealing Belt Driven Linear Actuator O N B 120 Series / , | : : i{%@ i

A4k

Motion Control Motion Control
BALAEM/ AN
Motor left side / Motor right side
HNR
/‘ ’EB*}-LEMU Motor left side %{ﬁ:Unit:mn —
it HNB
= HCB
N
| il HNT
-l
I L
i} 260 AT valid stroke A B 145
left|{1imit145 ﬁéEEEIOMM safe distancelOmn right 1imit145
H— GCB
2 Jma[=L ]
B 5 GCBS
120 GCRS
190 ESR
2x @8
7 110 EMR
S D ] H = El‘ EHR
[=2]
oL13. 20 1 d
KSR
LNP
BT
Stroke DDR
L 710 810 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 :;!f%‘ﬁﬂ
eference
KG 27.1 | 286 | 301 | 316 | 331 | 346 | 361 | 376 | 391 | 406 | 421 | 436 | 451 | 466 | 481 | 496 | 511 | 526 | 541 | 556 data
BNITE
Stroke
L 2710 | 2810 | 2910 | 3010 | 3110 | 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610

k KG 57.1 58.6 60.1 61.6 63.1 64.6 66.1 67.6 69.1 70.6 72.1 73.6 75.1 76.6 78.1 79.6 811 82.6 84.1 85.6 j
/( ’ EE*J‘LEMIJ Motor right side B :Unit: m}

W8 T-Nut —i
i FENBT 45
)
S|
-l
L
HBATHE valid stroke At BR145

%4 BB 10 safe distancelOm right Limitlds

120
110
T E|
E |
0 H |

S-S 8 x M8

2

a2

PREBHMEEIRER “Excluding motor and mounting plate weight

BXRITE
Stroke
L 710 810 910 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610
KG 271 28.6 30.1 316 331 | 346 36.1 376 39.1 | 406 4.1 43.6 45.1 46.6 48.1 496 | 511 52,6 54.1 | 556

BXRITE

Stroke

L 2710 | 2810 | 2910 | 3010 | 3110 | 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610

k KG 57.1 | 586 | 60.1 | 61.6 | 63.1 | 646 | 661 | 676 | 69.1 | 70.6 | 72.1 | 736 | 751 | 766 | 781 | 79.6 | 811 | 826 | 841 | 856 / K

—— IR ES-E S M A

3% -8 € M ——"




=24 24
A% o A% o

Motion Control Motion Control

FalEEESEIIT Product performance parameters are as follows RE-fTEMLEE] Acceleration-payload relationship HNR

4 " HCR
4=y
/EERE —— o Cooe
Repeat Accuracy EEE{M‘*E E (mm) i i\ ) - IKF AMEBER horizontal, side use HNB
+0.05 L3A%%EIE (mm) Rated Speed (rpm/min) 500 [1000| 1500 2000 2500 3000 40 HCB
mm . %
== EE (Mm/s) Maximum speed (mm/s) 2100 | 4300 6400 | 8500 (1070012800 20 HNT
RAAMESE JKFAERD (kg) Horizontaltkg) | 40 | 30 15 | 10 | 2 | 1 Xvz
Maximum Payload 15
S8 (mm) tead (mm) 256 ot ONB
#mg 10
TEAEHEST (N) Rated thrust (N) 47 5
&
FRAEFTAZ (Mm) Stroke pitch (mm) 150~5050mm;/100 i&1F 100 mm pitch ? GCR
GCB
ACEREZEXAE (W) AC servo motor output (w) 750 !
GCBS
0
BZHBEEE (mm) seltwidth (mm) 78 2100 4300 6400 8500 10700 12800 e
BEFLEE (mm/s) Maximum speed (mm/s)
%muﬁggﬁ%m (mm) High rigidity linear guide(mm) 30X26 ESR
WU EERRHIESE TANERBAERTREE).
5% 4 *Please refer to the moment diagram below.(Do not reach all maximum EMR
J?\o"n;\e’;ngrgg Oguts};i:e 672(N PN) value at same time.)
EHR
1 DIANREIZEO.4FD0
31 Acceleration and deacceleration value is set 0.4 second. KSR
BB IIFER N.m Alowable overhang REETREE Installation diagram LNP
DDR
%’?ﬁ'*iMsEﬁﬂ?mE%ii M5 nuts Qty. (by stroke) up locking plate lj H R%fﬁﬁ*?e
Lasteen | TR 720\ dta
BRATIE stroke 150~950 150~1450 150~1950 2050~2450 2550~5050 =
I down locking plate
#48 Quantity 6 8 10 12 20 ~— TFHiEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIS INEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plateis optional.
RIFHAFHIFER Nm Allowable overhang BESRTFRHRE Static loading moment
HEER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
5050mm 12800mm/s 750W 78mm 30X26-1% ¢ A .
[o]
B
(B {IUnit:mm) (B {IUnit:mm) (B4IUNit:N.m)
%z LIRE [l ZIRE
gg%;_eitjj_it Ordering method Horizz}rﬁzﬁﬁation Spee?’bﬁf;um Horizﬂ!\Eﬁtﬁation Speed Maximum Ry &
1kg 12800mmy/s - - - 1kg 12800mm/s - - - MP 50
2kg 10700mm/s = = = 2kg 10700mm/s = = = MR 15
S| lokg | ssoommjs | - - - S| lokg | ssoommjs | - - - HERFRTRIEREE D,
- - — - - - - - - 5 5 Thetorquevalueinthe chartindicate the center of gravity.
256 | 15kg 6400mm/s = = = 256 | 15kg 6400mm/s - - - HABRIEWE R LA T RIESHAL00002E,
Lead 30k 4300 Lead 30k 4300 Operation life is 10,000km when the product is using under the specified conditions.
T T T g A U i g mmfs | - | - | - R ERE AR DA BRI EWRA S,
40kg 2100mm/s _ _ _ 40kg 2100mm/s _ _ _ The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.

& & FR IR s
Brand Body Width EfEARDIA—YFR Suitable motor brand
FZHS Belt Y Ba, =
751 G LT AT BB T HEBFE DREE BRRE ARDERES REhasAS
Motor direction Y: threaded hole F Custom/special processing, Brake Motor capacity AC-Voltage Servo motor model Driver Model
6: countersunk hole 20: 200W
DL EB#LAM
e 40: 400W == -
o - bR 0 = ERE R TR ) . 24
2 ;:gg:eussim T MR ::ﬁfbgaﬁ 75: 750w Mitsubishi i No brake (horizontal type) 400 220 HG-KR43 MR-J4-40A
Y ull Sea
H BT soune 256mm ML EH15ME £ 47 e
O BRH entype LP EHINEEM TS - 60/90(RLEAN) #E P ERE(KFR) 400 220 MHMD042G1U MBDHT2510
E SBAT ccticpincr LU s EAM S panasanic ormelerenaies
L EgiEE*ﬂ. Linear motor 150-5050 RP E@,M%%EWJ'FH P *Q-F Panasonic phZ:E:EL%%I:,de
K $EEAE LR High rigiaity linear actuator ~>0°0mm RU EBHSNE AN LT M =2 yieubishi o &% TR (KT
G WERTVEAA suiltin rail linear actuator (fE1f@100mm) DL Motor leftside :§ Mitsubishi N:NPN . T No brake (horizontal type) 400 220 ECMA-C20604ES ASD-B20421-B
Gap 100mm DR Motorright side Y &I vaskawa P: PNP
D BB HELH simple linear actuator MR Motor external right side H o R verm 3pCS
> " N Motor external left side
M B IR A B3E irect drve rotary motor [APL Motor external lower left T A& peta FATIZ 2 T None
LU Motor external upper left I RIEA reducer

RP Motor external lower right
RU Motor external upperright

A I 2% S-S M I Ty . WY X 55 ff o E iE WM I




% ’ ¥§TWE%*§2§ Semi-sealing Belt Driven Linear Actuator O N Bl40 Series / , : : “ %

Motion Control

Motion Control

BALA M/ EBANAN

Motor left side / Motor right side
HNR

/‘ ’ BB motor left side %{ﬁ:Unit:mn —

HNB

—A

M8 T-Nut
24 45 L i FEMST AU 4 £F HCB
A e ———
B 3 o HNT
- L = |-
-l
L

HRATE valid stroke
ZAFE B 10MM safe distancelOmn

right 1jmit145 GCB

i
[T = sces
)
140 GCRS
ESR
EMR
S| 320 o - _
D i 3 EHR
7 H = S
— H |
KSR
8 x M8
CAEHEHAREIREE *Excludingmotor and mounting plate weight LNP
BHITE
Stroke 1050 1150 1250 2250 2350 2450 DDR
L 710 | 810 | 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 | 2710 | 2810 | 2910 | 3010 | 3110 :Sf%ﬁﬂ
eference
KG 263|281 (29.9 317 [ 335353 |37.1 389 |40.7 | 425 | 44.3 | 46.1 | 47.9 | 49.7 | 51.5 | 53.3 | 55.1 | 56.9 | 58.7 | 60.5 | 62.3 | 64.1 | 65.9 | 67.7 | 69.5 data
BHITE
Stroke
L 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610 | 4710 | 4810 | 4910 | 5010 | 5110 | 5210 | 5310 | 5410 | 5510 | 5610
k KG 713 | 731|749 |76.7 | 785 | 80.3 | 82.1 | 83.9 | 85.7 | 87.5 | 89.3 | 91.1 | 92.9 | 94.7 | 96.5 | 98.3 |100.1{101.9|103.7 |105.5 |107.3|109.1|110.9 [112.7 | 114.5 j
/( ’ EBALAEM motor right sice BI:Unit: m}
—A
M8 T-Nut
5 T EMBT 7R B
e
o
/ | a
14 S —
-
| L |
Zﬂﬁrﬁaus‘ 260 _, 13947 Bt valid stroke E*&N@s
‘ left [limit145 224 B 10MM safe distancelOmn right 1fimit145
=l ==l
- = ]
140 190
2x @8
110
3.20 i
s =
M) 2|
T
8 x M8
PREBHMEEIRER “Excluding motor and mounting plate weight
BHITE
Stroke 2250 2350
L 710 | 810 | 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 | 2710 | 2810 | 2910 | 3010 | 3110
KG 263|281 (29.9 |31L7 |335]|353|37.1 389|407 | 425|443 | 46.1 | 479 | 49.7 | 51.5 | 53.3 | 55.1 | 56.9 | 58.7 | 60.5 | 62.3 | 64.1 | 65.9 | 67.7 | 69.5
BHITE
Stroke
L 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610 | 4710 | 4810 | 4910 | 5010 | 5110 | 5210 | 5310 | 5410 | 5510 | 5610

k KG 713 | 73.1| 749 | 76.7 | 785 | 80.3 | 82.1 | 83.9 | 85.7 | 87.5 | 89.3 | 91.1 | 92.9 | 94.7 | 96.5 | 98.3 |100.1{101.9|103.7 |105.5 |107.3|109.1|110.9 [112.7 | 114.5 / K

—— IR ES-E S M A

3% -8 € M ——"




7=\
2 AH 1% %

Motion Control

=\
2 AH 1% %

Motion Control

RE-frELE Acceleration-payload relationship HNR

FaEEESHUT Product performance parameters are as follows

— HCR
SUERF - IKFAER Horizontal
’ EE*Q}; 5 5 E{IF5 E (mm) Repeated positioning accuracy (mm) +0.05 70 orizonta HNB
Repeat Accuracy 10:1 ‘
+0.05 L3A%EIR (mm) Rated Speed (rpm/min) 31 5:1 7:1 10:1 60 4L HeB
mm . 51 #S 50 :
BEEE (Mm/s) Madmum speed (mmjs) 2333 | 1400 | 1000 700 £ T~ HNT
= 40
&
T q = s XYz
%kﬁﬂlﬁié 7}(:Fﬁﬁﬁ (kg) Horizontal (kg) 32 47 58 63 2
Maxi Payload
aximum Payloa ﬁﬁﬁﬁﬁ (kg) Vertical (kg) %2 11 17 18 20 20 ONB
F72 (mm) tead (mm) 140 10
0‘.7 l.|4 2.‘ 3
TEAEHEST (N) Rated thrust (N) 230 0 02 04 06 08 10 12 14 16 18 20 22 24 .
. 3®E (mMm/s) Speed (mmys)
*,]_1 )’E?i’*% (mm) Stroke pitch (mm) it 150~3050mm/100 |Eﬂ PR 100 mm pitch —
EEMHR Vertically GCBS
22
ACEIIRERAE (W) AC servo motor output (w) 400 101
20 - GCRS
. - el
RZHEERE (Mm) seltwidth(mm) 23 Bl 1 ESR
— 5 w% 16
%wuﬁagﬁ}%m (mm) High rigidity linear guide(mm) 15X12.5 = EMR
14
Ve Shi 672(NPN) 1 : ErR
Home sensor Outside o
10 KSR
#1 BANREIREO.4%D. 31 Acceleration and deacceleration value is set 0.4 second. 0‘_7 1.|4 2.:33
50 EEMAR, BRHIK, RS ERENRR, EE .
32 Notice, if the belt breaks, the movinzg parts will?alllwhge?the application is vertical. 0 02 04 06 08 10 12 14 16 18 20 22 24
%3 BARRERENES, /27110, %3 Lead is 110mm without gearbox. SEE (Mm/s) Speed (mmjs) DDR
Reference
data

BIFAEHIFER N.m Allowable overhang

RHEREE Installation diagram

FBATIEMSFRIZIEE M5 nuts Qty.(by stroke)
BRATE stroke

2600~3050 14

up locking plate

BRATE stroke LEiAEER

150~500 4

¥ 2 Quantity # & Quantity

720\

down locking plate

~— THIXEER

@ﬁ

HER#HSE, BT LR ERE

This picture for reference only, specs details according with the drawing.

ORAMEBRES RN THR, EAMSERBEERE.
s¢Standard mounting method is fix from the bottom, using the M5 bolt and nut.

3050mm 2333mm/s 400W 23mm 15X12.5-1%

# EMRERRIFAT R, EEBRIESIMNEMEM.

BERAFN Ordering method

TPA-ONB-60-140-L3050-MR-Y-P40B-N3-F

NN

fmhé & R

Brand Body Width

RS Belt

N 5 [ semi seal
C 2 FH ] Full seal

H B sistype

(0] IZHE', Entype

E EBET electric cylinder

L EgiEgﬁL Linear motor

K %ME@?B High rigidity linear actuator

G Wﬁﬁiﬁﬁéﬁ Built-in rail linear actuator

D B 1R simple linear actuator

M BEIXHEF DIE birect drive rotary motor

=30
Lead

140mm

Stroke
150-3050mm
(j81p@100mm)

Gap 100mm

I 3% -

=

7 E
Motor direction

DL EB#AM

DR BHAM

MR EBHINE R

ML EBHISMNE i

LP EBHSNEEMTH
LU EBHSNEAEM LA
RP EBHINERM TS
RU BBHLIMNE BN £

DL Motor leftside

DR Motorright side

MR Motor external right side
ML Motor external leftside
LP Motor external lower left
LU Motor external upper left
RP Motor external lower right
RU Motor external upper right

Y RaA
G: kAL

Y: threaded hole

G: countersunk hole

4T <=z2UO

A fmh#

Motor brand

LR IIES

Motor power
20:200W
40: 400W
75:750W
1K: 1000W

HAF panasonic
=2 witsubishi
R vaskawa
AR wera
IEI\K Delta

BRI Reducer

# =

Brake

A

Photoelectric Mode
N:NPN
P:PNP

= /R0 T

Custom/special processing

3PCS
FARIB T None

BFHREFHIER Nm Allowable overhang

#Top fixing plate is optional.

A
% *
[+
B

s

(B {IUnit:mm)

(B{iIUnit:mm) (B fIUnit:mm)

SRR A B C
10kg | 958 | 258 | 50 10kg 50 | 258 | 958 3kg 908 908
31| 20kg | 428 | 113 | 26 31| 20kg 27 | 118 | 458 31| 6kg 458 458
32kg | 258 | 63 | 18 32kg 18 | 68 | 268 11kg 308 308
25kg | 958 | 148 | 32 25kg 33 | 148 | 958 5kg 908 908
51| 35kg | 633 | 98 23 51| 35kg 23 98 | 608 51| 10kg 458 458
4Tkg | 458 | 63 | 18 47kg 18 | 68 | 458 17kg 308 308
28kg | 1308 | 153 | 33 28kg 33 | 153 | 1308 6kg 908 908
71| 40kg | 858 | 98 23 71| 40kg 23 98 | 858 71| 12kg 458 458
58kg | 558 | 58 | 18 58kg 18 | 68 | 558 18kg 308 308
30kg | 1858 | 153 | 33 30kg 33 | 148 | 1958 6kg 908 908
10| 45kg [ 1258 | 98 | 23 10| 45kg 23 | 98 | 1158 | |101| 13kg 458 458
63kg | 808 | 58 | 18 63kg 18 | 68 | 808 20kg 338 338

RYEEH-8EHRK

(2B4IUnit:N.m)
MY 340
MP 340
MR 62

*IERFIRTHBIEARED.

Thetorquevaluein the chartindicate the center of gravity.
HERRMEHNES AT RIESH 1000022,

Operation life is 10,000km when the productis using under the

specified conditions.
ERERATEERTANE NERRELSBHF LS,

The standard specification cannot be applied to the use of inverted crane.
Please consultour businessif necessary.




7=\
2 AH 1% %

Motion Control

BEAINE M/ BN EEN

Motor external left side / Motor external right side

> Eléitj' |‘7H &%E?ﬂ Semi-sealing Belt Driven Linear Actuator

| ) EBANINE M Motor external left side

%m:Unit:mh

—A
M5 T-Nut
2 REME T 7 B2 B} 2
(E— |
i —

L

ZERIRA780_, 200

F AT valid stroke

left Linit80 |

GAFEES10MM safe distancelOmm

REBHNMRERESE “Excluding motor and mounting plate weight

20 o
65
105 120 2x D6
60 -
. ¥
i I 212 0GE [ |
on| I 1
2.501 T T1.60 S x V6

BHRITE
Stroke
L 614 714 814 914 1014 1114 1214 1314 1414 1514 1614 1714 1814 1914 2014
KG 4.5 5 5.5 6 6.5 7 [25] 8 8.5 9 o5} 10 10.5 11 fIE5)

BHRITE

Stroke

o
=

L 2114 2214 2314 2414 2514 2614 2714 2814 2914 3014 3114 3214 3314 3414 3514
k KG 12 17225 13 135 14 145 15 1155 16 16.5 17 o) 18 18.5 19 J
ﬁ ) EBHNINE R M Motor external right side ﬁﬁ‘L:Unit:mN

—A
15 M5 T-Nut
SLFHIMGTI 8 E e
| P v/
Lo
g 7 |
y -l
L
JERIBRIS0. 200 i3t valid stroke A0
1 left 1imit80 22 4B B 10M safe distancelOm right 1jimit80
2 2
$£L
120 2x @6
60 -
<
2| = [ EHHEE ]
< I ]
2. 4. 60 ° °

PREBHARERER “Excluding motor and mounting plate weight

8 x M6

BHITE
Stroke
L 614 714 814 914 1014 1114 1214 1314 1414 1514 1614 1714 1814 1914 2014
KG 4.5 5] 5.5 6 6.5 7 {65] 8 8.5 9 Ol 10 10.5 11 fIME5)

BHRITE

Stroke

L 2114 2214 2314 2414

2514 2614

2714

2814 2914 3014 3114 3214 3314 3414 3514

14 145

15

153 16 16.5 17 {Ii7E5) 18 18.5 19

K KG 12 12.5 13 55

BYSNEL T/ BHINEE L

Motor external lower left /Motor external upper left

7=\
2 AH 12 %

Motion Control

ﬁ ’ EE*;WI‘EE—F Motor external lower left

65 Teft 11 180

CERE o

%4 B 10MMsafe distancelOmn

-
2
—la
| L ,
i’f&[‘é (80_, 200 H AT valid stroke iR RS0

right 1imi[t80

181

120 2x @6
60

45

8 x M6

*FAEEHNIRERERE “Excluding motor and mounting plate weight
BHITE

Stroke

L 520 620 720 820 920 1020

1120

1220 1320 1420 1520

1620

1720

1820

B Unit: mh

1920

KG 4.5 ) 515 6 6.5 7

5

10

10.5

11

JINIRS)

BT

Stroke

L 2020 2120 2220 2320 2420 2520 2620 2720 2820 2920 3020 3120 3220 3320 3420
k KG 12 12.5 13 13.5 14 14.5 15 15.5 16 16.5 17 17.5 18 18.5 19 j
K , EE*;L%‘EEJ: Motor external upper left — %ﬁi:Unit:mh
167
M5 T-Nut
115 ME TR o
|
o1 i |
£ 0 O ° 76 =
] i
=1 Ef -
2| @28 o
65 4P B 10MM safe distancelOmm
105 ZERRE{78Q 200 AT FL valid stroke AiHEBE80
L

Left 14ni t80

f 120 2x D6

60

right Ilimit80
1

o| o et r
:; -l ‘iﬁ@ opgq E:|
2.50 4. 60 i
8 x M6

*FEBEHALERES ‘Excluding motor and mounting plate weight

K KG 12 145 13 135 14 145

BXITE
Stroke
L 520 620 720 820 920 1020 1120 1220 1320 1420 1520 1620 1720 1820 1920
KG 4.5 5 5.5 6 6.5 7 7.5 8 8.5 9 9.5 10 10.5 11 115
BXITE
Stroke
L 2020 2120 2220 2320 2420 2520 2620 2720 2820 2920 3020 3120 3220 3320 3420
15 155 16 16.5 17 17.5 18 18.5

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data

" ML -8 & ¢ ——

—. 5% B8 & M




’!%@ﬁ) > éléi‘fl‘flﬁﬁ*ﬁgﬂ Semi-sealing Belt Driven Linear Actuator O N BGO Series e X ' : m

Motion Control Motion Control
Motor external lower right /Motor external upper right _—
HNR
/‘ , EB*}-W}‘EE—F Motor external lower right B :Unit: mh el
HNB
- HCB
HNT
k=]
<
I
- L -
65 JEHRIRAESO_, 200 . HBATHE valid stroke i RS0 GCB
left Lijuit80"] 2 4B B 10MM safe distancelOmn right 1imit80
T2A\ = GCBS
=
- GCRS
ESR
120 2x® 6 —_—
60 - EMR
= —
9.3 1 T EHR
[ [ | L.
2.50 4. 60 — : _—
8 x M6
REBHNMRERESE “Excluding motor and mounting plate weight LNP
BRITE
Stroke DDR
L 520 620 720 820 920 1020 1120 1220 1320 1420 1520 1620 1720 1820 1920 BERK
Reference
KG 45 5 5.5 6 6.5 7 75 8 85 9 9.5 10 105 11 115 data
BNITE
Stroke
L 2020 2120 2220 2320 2420 2520 2620 2720 2820 2920 3020 3120 3220 3320 3420

k KG 12 125 13 135 14 14.5 15 155 16 16.5 17 17.5 18 185 19 j
/‘ ) EBHNIMNE A L Motor external upper right B :Unit: mh

-
M5 T-Nut
AR R RS T R R 3}
6p0 == =
| et
i |
-l

AFEB10MM safe distancelOmn

105 ZE R BLRT8Q) 200 A RATFLvalid stroke i HZBR80
left 1mi t80 L Tight 1imit80
f 1

CREBHNMRERESE “Excluding motor and mounting plate weight

BHRITE
Stroke
L 520 620 720 820 920 1020 1120 1220 1320 1420 1520 1620 1720 1820 1920
KG 4.5 5 5.5 6 6.5 7 7.5 8 8.5 9 9.5 10 10.5 11 115

BHRITE

Stroke

L 2020 2120 2220 2320 2420 2520 2620 2720 2820 2920 3020 3120 3220 3320 3420

k KG 12 125 13 135 14 145 15 153 16 16.5 17 {1i7E5) 18 18.5 19 J K /

3% -8 € M ——"

—— IR ES-E S M A




24 24
ZAh 1t 3 ZAh 1t 3

Motion Control Motion Control

eSS EIIT Product performance parameters are as follows RE-fTEMLEE] Acceleration-payload relationship HNR

/ \ HCR
S yERF N IKTAE S Horizontal
g EE*Q}; 5 5 E{IF5 E (mm) Repeated positioning accuracy (mm) +0.05 110 o orizonta HNB
Repeat Accuracy 100 \
i O . 0 5 Eyﬁt}?ﬁ (mm) Rated Speed (rpm/min) 5:1 71 10:1 90 HCB
mm R 1 " 80
'_'lzai = ]z E (mm/s) Maximum speed (mm/s) 1700 1214 850 BS 10 — HNT
Z 60 :
%kﬁﬂlﬁié 7}(:Fﬁﬁﬁ (kg) Horizontal (kg) 43 63 105 50 < XYz
i load
Maximum Payloa EEERE (kg) Vertical (kg) *2 18 20 22 ‘3‘2 ONB
42 (mm) tead (mm) 170 2
10 0.85 11 7
TEAREHES (N) Rated thrust (N) 350 0 03 06 09 12 15 18 —
— EE (mm/s) Speed (mm/s)
FRAEATRZ (mm) stroke pitch (mm) 150~3050mm;/100 J&alB& 100 mm pitch —
EF=REYE] Vertically GCBS
26
ACEIREIZEE (W) Acservomotoroutput (w) 400 2
» 10:1 GCRS
R BaRE (Mm) Beltwidth(mm) 38 w3 20 Ll
S 4 551 ESR
2
SN EZEEE (mm) High rigidity linear guide(mm) 20X17.5 & ii o
12
R RN 38 o= 672(NPN) 0 EHR
Home sensor Outside
8 KSR
1 DANAEIZEO.470 31 Acceleration and deacceleration value is set 0.4 second. 6
) EEERN, BEHNY, FNREEENRR, FEE, il B i LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 0.3 0.6 0.9 12 15 1.8
#3BARRERENE, S1279110, %3 Lead is 110mm without gearbox. SEE (mm/s) Speed (mm/s) DDR
Reference
data

RIFREHIFER N.m Allowable overhang ZEREE Installation diagram

FBATIEMSFRIZIEE M5 nuts Qty.(by stroke)

_ _ up locking plate
BRATE stroke #8 Quantity BRATE stroke #588 Quantity e = 17
LHREER | TR TR0\
) oo &t{ym%%’lﬁﬁ;%ﬁﬁ?ﬁygﬁ 150~500 4 2600~3050 14 down locking plate
This picture for reference only, specs details according with the drawing. o
~— THIXEER

ORAMEBRES RN THR, EAMSERBEERE.

s¢Standard mounting method is fix from the bottom, using the M5 bolt and nut.

3050mm 1700mm/s 400W 38mm 20X17.5-13% LB A £ 2 B A

#Top fixing plate is optional.

=y : S N
BSRELH el (e BFHREFHIER Nm Allowable overhang
TPA-ONB-80-170-L3050-DL-Y-P40B-N3-F A
B
% A c
—_ —_— — [ A
B
(#{IUnit:mm) (#{IUnit:mm) (#{IUnit:mm) (8 4ZUnit:N.m)
R hE A R NN 3 MERE EERE
w2EER A B C ] ZEER A B C i 2
13kg | 908 | 288 | 48 13kg | 48 | 288 | 908 3kg 1258 | 1258 P 820
Rt selt el . 51| 28kg | 558 | 168 | 30 | | 51| 28kg | 30 | 168 | 608 | |51 | 8kg 658 658 MR 229
1 G: KT ki =4
i e ion AR Motor povier Clﬁﬂ{)ﬁﬁg&gﬂg 43kg | 408 | 118 | 23 43kg | 23 | 118 | 408 12kg 458 458 'ﬁﬁéﬁﬁﬁﬁﬁlﬁ%‘i#&ﬂﬁhibu ) .
G: It K hol . . Thetorquevalueinthe chartindicate the center of gravity.
DL el countermnineie 4218: iggw 33kg | 758 | 168 | 30 33kg | 30 | 168 | 758 14kg | 608 608 AR R E S AT RIEEH 100004 E,
N 2 E ] semi seal EXE DR BBHEM 71 48kg 575 | 123 24 71 48kg 23 118 | 583 71 16kg 488 488 Operation lifeis 10,000km when the product s using under the
C 23 Full seal Lead MR BHINEEIF 75: 750w ' ’ ’ specified conditions.
m 1K: 1000W 63k 420 | 93 20 63k 20 88 | 458 20k 408 408 B REREZERIENE NEBRIEEBRIALS,
H E,lj"’ JIstype 170mm ML %*ﬂﬁhﬁfi?ﬁ' 2 2 & The standard specification cannot be applied to the use of inverted crane.
O BRHFL entype | LP EBHINEEMTA e 75kg 908 | 148 28 T5kg 28 148 | 958 16kg 558 558 Please consult our business if necessary.
E BBAL eecviccyineer LU HASNE M b5 b . 01 ookg | 708 | 113 | 23 | |102| 9okg | 23 | 113 | 758 | |10 18kg | 458 458
L ngEgﬁL Linear motor RP %*}L%%EMUTE P ®WmTF Panasonic ph#?’?‘g%d
K BB igh gy lnear acuator 150-3050mm gy epishE AN LS = Fe— 105kg | S%6 | & | 18 l05ke | 18 | 8 | 608 2kg | 358 | 38
N . M =25 witsubishi N: NPN
G Wﬁﬁiﬁﬁéﬁ Built-in rail linear actuator (IEﬂBmmOmm) DL MO(OTI?’(SId.e =l °
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D &SR simple linear actuator MR Motor external right side H  FN uera 3PCS
3 " N ML Mot t Lleftsid
M EISRHERE S22 oirctrve rotary motor Lp Motor external lower left T &3 perw FAFIR: T none
LU Motorexternal upper left 1 EEN] reducer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY 17 55 ff o E iE WM I e




% > Elii‘fl‘ﬂﬁﬁﬁgﬂ Semi-sealing Belt Driven Linear Actuator : : %

Motion Control Motion Control
BHSNE LM/ ENINERN BHINEET/BYINEEL
Motor external left side / Motor external right side Motor external lower left /Motor external upper left
HNR
m ’ EBANIME A M Motor external left side %ﬁ:umt:m} ﬁ ’ EBHIMEZ T Motor external lower left %{ﬁ:Unit:mh —
HNB
M8 T-Nut
M8 T-Nut ST i HCB
. gl 2 e —A
ABERSEMST Y B - = = = ANT
A ‘ = 5|
= ]
= =
L L
L ] o
- ZeMR101 215 A AT HR valid stroke | i HER96
FERIRIOL 215 AT BT Avalid stroke — A 1HR96 80 feft Himuiot 22 42 B510MM safe distancelOmn idhe lini 196
left Jimit101 — e o right 1imit96 ——
4B 10MM safe distancelOmn L,ﬁ,,i - = cCB
[ | 2,
2 = GCBS
- 5
e= GCRS
170 2% &6 170 ESR
4.50 o}~ 150 o | 2206
80 3 - m 80 2 EMR
S = T = T ] S = T ]
Sl HAIANmE I P LINEIL: I
2.50 7 2.50 7
i KSR
8 x M6 8 x M6
*FEBHMLEIRER *Excluding motor and mounting plate weight *AEBIAMLEIRESR *Excluding motor and mounting plate weight LNP
BRITE BHITE
Stroke Stroke DDR
L 669 769 869 969 1069 1169 1269 1369 1469 1569 1669 1769 1869 1969 2069 L 572 672 772 872 972 1072 1172 1272 1372 1472 1572 1672 1772 1872 1972 R?f%ﬁ*:\l
eference
KG 11.6 1723 13 13.7 14.4 15.1 15.8 16.5 17.2 17.9 18.6 19.3 20 20.7 21.4 KG 11.6 23 13 13.7 144 115,11 15.8 16.5 17.2 17.9 18.6 193 20 20.7 214 data
BRITE BHITE
Stroke Stroke
L 2169 2269 2369 2469 2569 2669 2769 2869 2969 3069 3169 3269 3369 3469 3569 L 2072 2172 2272 2372 2472 2572 2672 2772 2872 2972 3072 3172 3272 3372 3472

k KG 221 228 235 24.2 249 25.6 26.3 27 27.7 28.4 29.1 29.8 30.5 31.2 L J k KG 22.1 228 ps8ts) 242 249 25.6 26.3 27 27.7 28.4 29.1 29.8 30.5 31.2 SIS J
ﬁ ’ EHLIMNE AN Motor external right side ﬁ{ﬁ:Unit:mN K ’ EBHNINEE L Motor external upper left Eﬁi:Unit:mh

M8 T-Nut
9 M8 T-Nut g HEEIBT TR \
g -
/%M - = 7,
= % = |
B H [ \ ‘I / —
= =
187. 50
L
IOl 215 = AR a1 sk A6 Cy
ini ght Lfmit96
Left Hinit101 A PR B 10MM safe distancel0mm rent e -
1) I =B | = g
S -
123 0 224 F B 10M safe distancelOmn
80 ! Ze 101 215 A BAT R valid stroke A HER96
130 Teft 1in}it101 L right|1imit96
170 -y ‘ 170 ‘
4.50 140 s X 20 150 o 2x 06

- 80 3 ISl , 2 ‘8 ]
e mIiem; ] i % T

8 x M6 8 x M6
*FEBHMLEIRER *Excluding motor and mounting plate weight *AEBHAMRERER *Excluding motor and mounting plate weight
BHITE BHITE
Stroke Stroke
L 669 769 869 969 1069 1169 1269 1369 1469 1569 1669 1769 1869 1969 2069 L 572 672 772 872 972 1072 1172 1272 1372 1472 1572 1672 1772 1872 1972
KG 116 123 1 13.7 14.4 151 15.8 16.5 17.2 17.9 18.6 19.3 20 20.7 214 KG 11.6 123 13 13.7 144 FlI5H) 15.8 16.5 17.2 17.9 186 83 20 20.7 214

BHRITE BXITE

Stroke Stroke

L 2169 2269 2369 2469 2569 2669 2769 2869 2969 3069 3169 3269 3369 3469 3569 L 2072 2172 2272 2372 2472 2572 2672 2772 2872 2972 3072 3172 3272 3372 3472

K KG 221 228 235 242 249 256 26.3 27 21.7 284 29.1 29.8 30.5 31.2 319 / K KG 22.1 2238 235 24.2 249 256 26.3 27 21.7 284 29.1 29.8 30.5 312 319 j

3% -8 € M ——"

— 3 fEE-EE

\lg
I
H




% ’*i‘jﬁ&%ﬁgﬂ Semi-sealing Belt Driven Linear Actuator ON BSO Series ) , “ %

Motion Control Motion Control
BHSELAT/EHIER L
Motor external lower right /Motor external upper right .
/‘ ’ FBHIMNEG T Motor external lower right %ﬁ:Unit:mn el
HNB
M8 T-Nut HCB
A MBT LI RE el
—=h HNT
; e . Y
2 = |
= =
| L
Eméml — =N AU valid stroke 96
. P
i feftHmpuot AP B 10MM safe distancelOmm riht Hinitao
GCB
2| = &
IS GCBS
S = A e
. S GCRS
170 ESR

2x @6 S
140 LA ED
4.50 ] S0 s EMR
S ] ‘ EHR
Bl e[ [T 1] .
2.50 7 =] en

8 x M6
REBHNMRERESE “Excluding motor and mounting plate weight LNP
BRITE
Stroke DDR
L 572 672 772 872 972 1072 1172 1272 1372 1472 1572 1672 1772 1872 1972 SEEH
Reference
KG 11.6 123 13 13.7 14.4 15.1 15.8 16.5 17.2 17.9 18.6 19.3 20 20.7 21.4 data

BHRITE

Stroke

L 2072 2172 2272 2372 2472 2572 2672 2772 2872 2972 3072 3172 3272 3372 3472

k KG 22.1 228 235 24.2 24.9 25.6 263 27 2717 28.4 29.1 29.8 30.5 312 31.9 j
/( ’ EBHNIMNE A L Motor external upper right B :Unit: m}

187. 50 M8 T-Nut
A RPRY NS T AL IR R
- -
= T = ]
- = =
. = =1
19
i
10
b =0y o
80 2242 B 10MM safe distancelOmn
130 JERZB 101 215 A AT FE valid stroke 1iHzBE96
left 1i|+it101 L right linit96
T =i
170
140 2x 06
=)
80/ 2 |
i
BN 1]
2.50 7
8 x M6
CREBHAMRERER “Excluding motor and mounting plate weight
BHITE
Stroke
L 572 672 772 872 972 1072 1172 1272 1372 1472 1572 1672 1772 1872 1972
KG 116 12.3 13 13.7 144 15.1 15.8 16.5 17.2 179 186 19.3 20 20.7 214
BRITE
Stroke
L 2072 2172 2272 2372 2472 2572 2672 2772 2872 2972 3072 3172 3272 3372 3472

k KG 221 228 235 242 249 256 26.3 27 21.7 284 29.1 29.8 30.5 312 319 / K /

3% -8 € M ——"

—— IR ES-E S M A




=24 24
ZAh 1t 3 ZAh 1t 3

Motion Control Motion Control

FalEEESEIIT Product performance parameters are as follows RE-fTEMILEE] Acceleration-payload relationship HNR

4 \ HCR
SR N IR A Horizontal
g EE*Q}; 5 5 E{IF5 E (mm) Repeated positioning accuracy (mm) +0.05 110 erizonta HNB
Repeat Accuracy 100 20:1
i O . 0 5 Eyﬁt}?ﬁ (mm) Rated Speed (rpm/min) 10:1 15:1 20:1 %0 HCB
mm e 1 w3 15:1
=1} ]EE (mm/s) Maximum speed (mm/s) 2320 1657 1160 §§ 80 HNT
e 70
& 10:1
-~ i =~ 60 XYz
%kﬁﬂﬂﬁié 7}(:Fﬁﬁﬁ (kg) Horizontal (kg) 60 80 100 -
i load
s FEEA (kg) vertical (kg) 2 30 50 60 0 oNB
S72 (mm) lead (mm) 232 *
- 20 l.TlG 1.‘65 Zv‘ 2
EREHES] (N) Rated thrust (N) 500 0 I 12 14 16 18 20 22 24 —
- N 3 (mm/s) Speed (mmys)
FRAEATRZ (mm) stroke pitch (mm) 150~3050mm/100 alB& 100 mm pitch —
. GCBS
ACTARR AR E (W) ACservomotoroutput (w) 750 o FEEEA vertically
60 20:1 GCRS
KBRS (Mm) Belt width(mm) 50 g% o —
S 15:1
& 50
SN EZ S (mm) High rigidity linear guide(mm) 25X22 T 45 EMR
0 EHR
R =R R 25 SME 672(NPN) 3 S
Home sensor Outside S
30 KSR
1 DANAEIZEO.47)0 31 Acceleration and deacceleration value is set 0.4 second. 25 |
%2 BEEAR, BRBITR, AANSERENER, §BE. e P 2 LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 1 12 14 16 18 20 22 24
%3 BARRERENE, $127110, %3 Lead is 110mm without gearbox. JEE (mm/s) Speed (mm/s) DDR
Reference
data

B HHIIFER N.m Alowable overhang RIEREE Installation diagram

FBATIEMSFRIZIEME M5 nuts Qty.(by stroke)

— _ up locking plate
BRATE stroke #8 Quantity BRATE stroke #588 Quantity e = 17
LHREER | TR TR0\
) o &t{ym%%’lﬁﬁ;%ﬁﬁ?ﬁygﬁ 150~500 4 2600~3050 14 down locking plate
This picture for reference only, specs details according with the drawing. o
~— THIXEER

ORAMEBRES RN TR, EAMSERBIEERE.
s¢Standard mounting method is fix from the bottom, using the M5 bolt and nut.

3050mm 2320mm/s 750W 50mm 25X22-1% LR AR R, BEERARIEINAN

#Top fixing plate is optional.

=y . S N
BSRAL Qe mEdiee BFREHIFER Nm Allowable overhang
TPA-ONB-100-232-L3050-MR-Y-P7T5B-N3-F A
B
% A c
—_ R — [ A
B
(#{IUnit:mm) (#{IUnit:mm) (#{IUnit:mm) (84ZUnit:N.m)
a2 R AT 7 3 ME=E BERS
30kg | 1102 | 187 | 25 30kg | 25 | 187 | 1102 Skg | 1202 | 1292 NP 1100
Rt velt (88 eprles 10| 45kg | 742 | 118 | 16 | |10:1| 45kg | 16 | 118 | 742 | 101 15kg 862 862 MR B
el &héﬁﬁﬂie HotorTHaH] cﬁf“{,ﬁjﬁggﬂg 60kg | 542 | 77 | 11 60kg | 11 | 77 | 542 30kg 672 672 P RFARTIIHE, KRB D,
G: countersunk hole 20:200W - Thetorquevalueinthe chartindicate the center of gravity.
DL EB#LA(M 20+ 100W 50kg | 1392 | 152 | 20 50kg 20 | 152 | 1392 20kg 1472 1472 AR REE S T RIS M 510000A S,
N 23 H semi seal 42 DR E#HA1M 75: 750W 151 65kg 932 2 13 151 65kg 13 2 932 151 35kg 822 822 Oper.a.tionlifei.s.lo,OOOkm when the product s using under the
C S on Fead MR HBHLSME A 3T 1K: 1000W 80k 80k 50k AR AR SRR AR RALS
n : 642 | 55 | 8 8 | 55 | 642 567 567 EERIEUE A EREEIRTUS,
H E,lj"’ JIS type 232mm ML EE*)'I,?}\EE%H’ & g g The standard specification cannot be applied to the use of inverted crane.
O FRHFL entype LP EBHINEEMTA Py T0kg 1392 | 107 15 T0kg 15 107 | 1392 30kg 742 742 Please consult our business if necessary.
- 1532 an
E ;g E;l{e;;l.ncvcylmder LU BB EM S Wotor bear S 201| 85kg | 892 | 57 | 8 | |20a| 85kg | 8 | 57 | 892 | |201| 45kg 552 552
BZ j Linear motor 150-3050mm RP BHSNEEMTA P #AF panasonic Photcelectric_;\?ode 100kg 542 27 5 100kg 5 27 542 60kg 442 442
K SAEARLE High rigidity linear actuator e RU BN EEN LTS M =2 witsubishi N: NPN
G AHERFVRL suiltin rail linear actuator (iB]FE100mm) DL Motor leftside & .
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D & SBHRA simple linear actuator MR Motor external right side H R wera 3PCS
3 " N ML Mot t Lleftsid
JF - —— e A I
LU Motor external upper left 3 HEN reducer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY X 55 ff o E iE WM I




7=\
2 AH 1% %

Motion Control

BEAINE M/ BN EEN

Motor external left side / Motor external right side

> Eléitj' |‘7H &%E?ﬂ Semi-sealing Belt Driven Linear Actuator

m ’ EBANINE M Motor external left side

%m:Unit:mh

M8 T-Nut
ST B -

@ =“
[—— .
| L _
Teft limit120 -y vight linit120
BPR120, 270 15 34T FE valid stroke N %1: 120

224 PE B 10MM safe distancelOmn

REBHNMRERESE “Excluding motor and mounting plate weight

.
@)X

100

7 190 2x @ 8

N ”ﬁ 110 2
pes i = ]

IE R LI 1]

sl _2.50 S x M8

BHRITE
Stroke
L 780 880 980 1080 1180 1280 1380 1480 1580 1680 1780 1880 1980 2080 2180
KG 24.5 25.2 25 26.6 2113 28 28.7 29.4 30.1 30.8 Bi% 322 B219 33.6 343

BHRITE

Stroke

L 2280 2380 2480 2580

2680 2780 2880 2980 3080 3180 3280 3380 3480 3580 3680

37.8 385 BOP) 39.9 40.6 413 42 42.7 43.4 44.1 44.8

J

k KG 35 35.7 36.4 371

’ EE*H”‘EE@U Motor external right side

ﬁﬁ'L:Unit:mN

—A
-
3
L
FRIR120 270 =M valid stroke AT 120

left limit120

119
el
g

24 PE B 10MM safe distancelOmn right Jimit120

CREBHAMRERER “Excluding motor and mounting plate weight

100
: 190 2x @8
T 110 IS
= ]
e ; L]
< ]2.50 8 x M8

BHRITE
Stroke
L 780 880 980 1080 1180 1280 1380 1480 1580 1680 1780 1880 1980 2080 2180
KG 245 252 258 26.6 RIS 28 28.7 294 30.1 30.8 BI5) 322 B2i 336 343

BHRITE

Stroke

L 2280 2380 2480 2580

2680 2780 2880 2980 3080 3180 3280 3380 3480 3580 3680

37.8 385 39.2 39.9 40.6 413 42 42.7 434 44.1 44.8

K KG 85 35.7 36.4 371

—. 5% B8 & M

BYSNEL T/ BHINEE L

Motor external lower left /Motor external upper left

7=\
2 AH 12 %

Motion Control

m ’ EBHIMEZ T Motor external lower left

235. 50

L3N

M8 T-Nut
HEEMSTRISR -

L I

150

H AT R valid stroke

100

119

T 274 BE B 10MM safe distancelOmn

|
: 2850 %‘ %‘

190 2x @ 8
110 2
5 |
i [
~_ - |
8 x M8

B Unit: mh

BXITE
Stroke
L 670 770 870 970 1070 1170 1270 1370 1470 1570 1670 1770 1870 1970 2070
KG 245 25.2 25.9 26.6 21153 28 28.7 294 30.1 30.8 BI%5 322 32.9 33.6 34.3

BT

Stroke

)

L 2170 2270 2370 2470 2570 2670 2770 2870 2970 3070 3170 3270 3370 3470 3570
k KG B5] B5Y 36.4 37.1 37.8 385 39.2 5010) 40.6 41.3 42 42.7 434 44.1 44.8
ﬁ ’ EBNINEE L Motor external upper left Eﬁi:Unit:mh
18 M8 T-Nut
= U5 RIS T 42 R —qA
=|
2 | |
=2 =
o
sy
E g
= o
100 left [limit120) iéEEEIOMM safe distancelOmm right Ifimit120
150 FEHRPE120 270 B BATHE valid stroke FBE120
L
7 190 2x 98
T 110 =
= |
| E i [ 1)
*l 250 8 x M8

REBHMERERER “Excluding motor and mounting plate weight

BRITE
Stroke
L 670 770 870 970 1070 1170 1270 1370 1470 1570 1670 1770 1870 1970 2070
KG 245 25.2 25.9 26.6 27.3 28 28.7 29.4 30.1 30.8 315 322 329 336 343
BRITE
Stroke
L 2170 2270 2370 2470 2570 2670 2770 2870 2970 3070 3170 3270 3370 3470 3570
K KG 35 35.7 36.4 37.1 37.8 38.5 39.2 39.9 40.6 413 42 42.7 43.4 44.1 448
= O M A/
—— IR ES-E S M A

HNR

HCR

HNB

HCB

HNT

GCB

GCBS

GCRS

ESR

EMR

EHR

KSR

LNP

DDR

SEHK

Reference
data



m ’ ¥§TWE%*§2§ Semi-sealing Belt Driven Linear Actuator O N BlOO Series ) , : : “ %

A4k

Motion Control Motion Control
Motor external lower right /Motor external upper right
HNR
/‘ ’ FBHIMNEG T Motor external lower right %ﬁ:Unit:mn el
HNB
HCB
HNT
—A
]
—
| L ,
1(5)8 34T R valid stroke _ AiBE 120
ight 1mit120
#Aiéﬁﬁglomsai‘e distancelOmm vight Lt
ﬁf = GCB
°| 728 —
GCBS
- GCRS
7 190 2x ® 8 ESR
f=1
110 =] EMR
T 1 _
= | LTI [ [
%l 2. 50 h‘;ﬂ 3 x M8
KSR
REBHNMRERESE “Excluding motor and mounting plate weight LNP
BRITE
Stroke DDR
L 670 770 870 970 1070 1170 1270 1370 1470 1570 1670 1770 1870 1970 2070 SER
Reference
KG 24.5 25.2 25.9 26.6 273 28 28.7 29.4 30.1 30.8 315 322 32.9 336 343 data
BNITE
Stroke
L 2170 2270 2370 2470 2570 2670 2770 2870 2970 3070 3170 3270 3370 3470 3570

k KG 35 35.7 36.4 37.1 37.8 385 39.2 39.9 40.6 413 42 2.7 43.4 44.1 44.8 j
/( ’ EBHNIMNE A L Motor external upper right B :Unit: m}

3
o3
8 2
N | | 720 =
100 24 PE B 10MM safe distancelOm
150 e PEBR120 270 3T valid stroke i bRBR 120
left [limit120° L right limit120
: ‘
190 2x @8
-] 7 (=]
110 |
T |
< _|2.50 8 x I8

CREBHAMRERER “Excluding motor and mounting plate weight

BHRITE
Stroke
L 670 770 870 970 1070 1170 1270 1370 1470 1570 1670 1770 1870 1970 2070
KG 245 252 258 26.6 RIS 28 28.7 294 30.1 30.8 BI5) 322 B2i 336 343

BHRITE

Stroke

L 2170 2270 2370 2470 2570 2670 2770 2870 2970 3070 3170 3270 3370 3470 3570

k KG 35 357 36.4 371 378 385 392 399 406 413 ) 27 434 441 448 / K /

—— IR ES-E S M A

3% -8 € M ——"




=24 24
ZAh 1t 3 ZAh 1t 3

Motion Control Motion Control

FalEEESEIIT Product performance parameters are as follows RE-fTEMILEE] Acceleration-payload relationship HNR

/ \ HCR
=33 N IKFEAEF Horizontal
g EE*Q}; 5 5 E{IF5 E (mm) Repeated positioning accuracy (mm) +0.05 240 orizonta HNB
Repeat Accuracy 220 ‘
+0.05 T3A#E3% (mm) Rated Speed (rpmmin) 10:1 15:1 20:1 oo 1N HCB
mm . % #3
'_'lzai =) ]EE (mm/s) Maximum speed (mm/s) 1280 852 640 §§ 180 15:1 HNT
2 160 -
IKFEAEFE (kg) Horizontal (kg) 110 160 140 XYz
= ARRES < 210 120 10:1
Maxi Payload g
aximum Payloa ﬁﬁﬁﬁﬁ (kg) Vertical (kg) %2 40 50 70 100 ONB
S42 (mm) tead (mm) 256 %
60 .64 0,‘85 l‘.‘ZB
TEREHEST (N) Rated thrust (N) 810 0o 04 06 08 1 12 14 16 —
o %3 o BEE (Mm/s) Speed (mm/s) GCB
*m,ﬁ{j’*% (mm) Stroke pitch (mm) = 150~4050mm/100 1B]P@ 100 mm Pitch
. GCBS
ACTARR AR E (W) ACservomotoroutput (w) 750 " EEEA vertically
© 1 GCRS
BB (Mmm) Beltwidth(mm) 60 B/ 1 0:1
e ESR
2 60 -
SNBSS (mm) High rigidity linear guide(mm) 30X26 . 51 o
10:1 _
40
Vv ShE 672(NPN) % EhR
Home sensor Outside
20 KSR
31 BIRMAERIZEO. 470, 31 Acceleration and deacceleration value is set 0.4 second. 10
%2 BEERR, BRHNN, RS EENRR, FEE. i it LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 04 06 08 1 12 14 16
%3 BARRERENE, $127110, %3 Lead is 110mm without gearbox. 3 (mm/s) Speed (mmys) DDR
Reference
data

B HESIFER N.m Allowable overhang LT EE Installation diagram

FBATIEMSFEIRIBEE M5 nuts Qty.(by stroke)

— L
[TTE Stroke = Quantity ‘TTE Stroke = Quantity FHREER H i Q

100~500 4 2600~3000 14

down locking plate

HEER#HSE, BT LR ERE e
This picture for reference only, specs deta’ils a?ording with the drawing. 600~1000 6 3100~3500 16 THiAEER
1100~1500 8 3600~4050 18
4050mm 1280mm/s 750W 60mm 30X26-1%
BAmEEEA XA THUR, EAMSERRIEEE. # EHHX BRI R, BEBRIEBIMEMEN.
s#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plateis optional.
= e q N N
BSRELH G BFREHIFER Nm Allowable overhang
TPA-ONB-120-256-L4050-MR-Y-P75B-N3-F A
B
% A c
-T- - T c A
B
(#{IUnit:mm) (#{IUnit:mm) (#{IUnit:mm) (84ZUnit:N.m)
AR E A TaRE Y 3 MERE = ERE
80kg | 1118 | 203 | 33 80kg | 33 | 203 | 1118 Skg 1308 | 1308 P 1600
R velt : i 10| 95kg | 758 | 134 | 24 | [102| 95kg | 24 | 134 | 758 | |102 15kg 878 878 MR A
A5 M G: 3 " = — .
Motor diracion G, Motor power Clﬁf“{{)ﬁﬁg&%ﬂg 110kg | 558 | 93 | 19 110kg | 19 | 93 | 558 40kg 688 688 NERFRFOISIE, KRB D _
G: countersunk hole 20:200W : Thetorquevalueinthe chartindicate the center of gravity.
DL AL 10+ 400W 130kg | 1408 | 168 | 28 130kg | 28 | 168 | 1408 20kg 1488 1488 AR SHEIE 5 T ES R N 1000022,
N 3t semi seal 852 DR EBHAEM 151 145kg 948 | 108 21 151 145kg 21 108 | 948 151 35kg 838 938 Operation lifeis 10,000km when the product is using under the
C 23t rullseal Lead MR BHNE SR 75: 750W specified conditions.
H B sistype 256mm ML EBAVINE A3 1K:1000W 160kg | 658 | 71 | 16 160kg | 16 | 71 | 658 50kg 583 583 ‘BB EATAEARANE N BREEERALS,
- P 60/90(}/52:‘@*}1) The standard specification cannot be applied to the use of inverted crane.
O BRFL entype LP BHNEEMTH o Reducer 180kg | 1408 | 123 23 180kg 23 123 | 1408 40kg 758 758 Please consult our business if necessary.
E BAT etctic cyiner LU EB#ISMEEM S L 201| 195kg | 908 | 73 | 16 | |201| 195kg | 16 | 73 | 908 | |201| 55kg 568 568
L B A Lnear motor RP BHSNEEMTE P 42T anasonic G EEE
K SRERELA vigh ity inear actvator 150-4050mm RUBHSMNEEMNLES M =2 e NN 210kg | 558 | 43 | 13 210kg | 13 | 43 | 558 Tokg | 458 458
G Wﬁﬁiﬁﬁéﬁ Built-in rail linear actuator (IETJB?JlOOmm) DL Motorlg!tsid.e v §“| .
Gap 100mm DR Motorright side Yaskawa P: PNP
D & SBHRA simple linear actuator MR Motor external right side H ) rcra 3PCS
3 " N ML Mot t Lleftsid
M BIHE S35 orectae oyt e, T B v AR e
LU Motorexternal upper left J R reducer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY X 55 ff o E iE WM I




/

< 7=\
N

A4ty

=24

A4k

> Elii‘fl‘ﬂ&%*ﬁ?ﬂ Semi-sealing Belt Driven Linear Actuator O N B 120 NEEES

Q

Motion Control Motion Control
EBHSNE LM /BN E RN BHSINELET/ENSIELEL
Motor external left side / Motor external right side Motor external lower left /Motor external upper left
HNR
\ ) EBANINE M Motor external left side %ﬁ:umt:m} ﬁ ’ EBHIMNE T Motor external lower left %{E:Unit:mh —
HNB
HCB
M8 T-Nut = M8 T-Nut =i HNT
45, ] SEMS TR 42 ii@gwmﬂiﬂ
g =] = =
N ] [
| ‘ > / ‘ >
| 14 3
— = - =
24,
170 f L t
L 120 - A AT valid stroke o AiBL 145
HRUTE valid stroke Aot |45 424 BB 10 safe distancelOnn vight Linitlfs
AP B 10MM safe distancelOmn right Ligit145 = ] E GCB
[ =20 Dl % @ GCBS
- B
J GCRS
120 190 ) 8
2x ¢ 8 X
110 110 ESR
- 7 =l eea—
. = T E g EMR
E \ s i 5 Ea——
b5 ~ o = ) 3.20 - = = EHR
N o0l N
osl w20 8 x M8 8 x M8 Ipe—
KSR
CAEHEHAREIRERE *Excluding motor and mounting plate weight LNP
BHITE BRITE
Stroke Stroke e DDR
L 915 | 1015 | 1115 | 1215 | 1315 | 1415 | 1515 | 1615 | 1715 | 1815 | 1915 | 2015 | 2115 | 2215 | 2315 | 2415 | 2515 | 2615 | 2715 | 2815 L 710 | 810 | 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 :;*f%‘ﬁ?ﬁl
ererence
KG 27.8 L) 30.8 E 338 B58] 36.8 383 39.8 413 42.8 44.3 45.8 47.3 48.8 50.3 51.8 5585 54.8 56.3 KG 27.8 OS] 30.8 5218 33.8 555 36.8 383 39.8 41.3 42.8 443 45.8 473 48.8 50.3 51.8 581S] 54.8 56.3 data
BHITE BHITE
Stroke Stroke
L 2915 | 3015 | 3115 | 3215 | 3315 | 3415 | 3515 | 3615 | 3715 | 3815 | 3915 | 4015 | 4115 | 4215 | 4315 | 4415 | 4515 | 4615 | 4715 | 4815 L 2710 | 2810 | 2910 | 3010 | 3110 | 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610
K KG 57.8 59.3 60.8 62.3 63.8 65.3 66.8 68.3 69.8 773 72.8 74.3 75.8 77.3 78.8 80.3 81.8 83.3 84.8 86.3 J K KG 57.8 )3 60.8 62.3 63.8 65.3 66.8 68.3 69.8 7.3 72.8 74.3 75.8 ies) 78.8 80.3 81.8 83.3 84.8 86.3 j
K ) EBHLINE G Motor external right side ﬁ{ﬁ:Unit:mN K , EAINE A £ Motor external upper left %ﬁi:Unit:mh
M8 T-Nut —4
L FEMS TR B
—A
3 e = —_—
/ | B
=] 1.4 =
| g = =
-l
L
PR145 260 HRATFEvalid stroke E*&EE 145
left|limit145 A ST 1OMM safe dist 10 right linfit145
BRI s Gstaneetim 120 1 GAERBI10MM safe distancelOmn
o ! 170 [R145 260 HRATFE valid stroke itk 145
2B = = L Tefd limit145 right limi/t145
= L
190 190
120 0 2x @ 8 0 110 2x @8
11
D S =]
. =
i == 3 wll3.20 = s
= | °° = |
S VS = L ~ =t d "~ =t o
ool 20 ] 8 x M8 8 x M8
CAEHENAMZERER *Excluding motor and mounting plate weight *REBHMLERER *Excluding motor and mounting plate weight
BT BHITE g
Stroke Stroke
L 915 | 1015 | 1115 | 1215 | 1315 | 1415 | 1515 | 1615 | 1715 | 1815 | 1915 | 2015 | 2115 | 2215 | 2315 | 2415 | 2515 | 2615 | 2715 | 2815 L 710 | 810 | 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610
KG 27.8 293 308 | 323 338 BEK) 36.8 383 39.8 413 42.8 443 45.8 473 48.8 50.3 51.8 533 54.8 56.3 KG 27.8 29.3 30.8 323 338 BoR 36.8 383 39.8 413 42.8 443 458 | 473 | 488 50.3 51.8 533 54.8 56.3

BXRITE BRITE

Stroke

Stroke

L 2915 | 3015 | 3115 | 3215 | 3315 | 3415 | 3515 | 3615 | 3715 | 3815 | 3915 | 4015 | 4115 | 4215 | 4315 | 4415 | 4515 | 4615 | 4715 | 4815 L 2710 | 2810 | 2910 | 3010 | 3110 | 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610

K KG 578 | 59.3 | 60.8 | 623 | 638 | 653 | 668 | 683 | 69.8 | 713 | 728 | 743 | 758 | 773 | 788 | 80.3 | 818 833 | 848 | 863 / K KG 578 | 593 | 608 | 623 | 638 | 653 | 66.8 | 683 | 69.8 | 713 | 728 | 743 | 758 | 773 | 788 | 80.3 | 818 833 | 848 | 863 j

— 39 % E-E & M

3% -8 € M ——"




% > ¥§‘T|‘7HE%*§QE Semi-sealing Belt Driven Linear Actuator O N Blzo Series @ : : ‘ %

Motion Control Motion Control
Motor external lower right /Motor external upper right
HNR
/‘ , EB*}-W}‘EE—F Motor external lower right %ﬁ:Unit:mn el
HNB
HCB
A
240. 50 M8 T-Nut il -
ﬂﬁ_ﬁi_@Mﬁﬂ%&
.
—
‘ N
g O3
24 e
170 L ‘
m ABATBralid stroke A5
. ight 1infit145
4B B 10 safe distancelOm relt e
—4 GCB
°| T2B L
GCBS
=
2x ¢ 8
110 ESR
7 e = EMR
S D S i 5
£ "~ = EHR
o0 =
8 x M8
KSR
CAEHEHAREIRERE *Excluding motor and mounting plate weight LNP
BT
Stroke 1y DDR
L 710 810 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 :;!f%‘ﬁﬂ
eference
KG 278 | 293 | 30.8 | 323 | 338 | 353 | 368 | 383 | 39.8 | 413 | 428 | 443 | 458 | 473 | 488 | 503 | 51.8 | 533 | 54.8 | 563 data
BT
Stroke
L 2710 | 2810 | 2910 | 3010 | 3110 | 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610

k KG 57.8 | 59.3 | 60.8 | 62.3 | 638 | 653 | 66.8 | 683 | 69.8 | 713 | 728 | 743 | 758 | 773 | 788 | 80.3 | 81.8 | 833 | 84.8 | 863 j
/‘ ) BiIMERL Motor external upper right B :Unit: mh

M8 T-Nut =it
LT FEMST R 42 1}

T —

(=1
I
g | Tmm| &
120 ! AR B 10MM safe distance10mm
170 BR145 260 HHATHE valid stroke it BR|LA5
lef{ limit145 Tight lifit145
L
190
i, 2x @8
110
S §
Sl 320 i s
ool 3. E |
. ! d
= 8 x M8

PREBHMRERER “Excluding motor and mounting plate weight

BT
Stroke
L 710 810 910 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610
KG 27.8 29.3 30.8 | 323 | 3338 B515) 36.8 383 39.8 413 428 443 45.8 473 48.8 50.3 518 583 54.8 56.3

BXRITE

Stroke

L 2710 | 2810 | 2910 | 3010 | 3110 | 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610

k KG 578 | 59.3 | 60.8 | 623 | 638 | 653 | 668 | 683 | 69.8 | 713 | 72.8 | 743 | 758 | 773 | 788 | 80.3 | 81.8 | 833 | 848 | 86.3 J K /

—— IR ES-E S M A

3% -8 € M ——"




7=\
2 AH 12 %

Motion Control

7=\
2 AH 1% %

Motion Control

RE-frELE Acceleration-payload relationship HNR

RS HUT Product performance parameters are as follows

/ ) HCR
S yERF N JKFAE R Horizontal
4 EE*Q}; B 5 EIFE E (mm) Repeated positioning accuracy (mm) +0.05 240 B orizonta HNB
Repeat Accuracy 0 :
i O . 0 5 OKEER (mm) Rated Speed (rpm/min) 10:1 15:1 20:1 200 HCB
mm . % #3
25 ]EE (mm/s) Maximum speed (mm/s) 1280 853 640 §§ 180 1501 HNT
o 160
IKF kg) Horizontal (k 120 170 230 = 10 XYz
EATpER K FEA (| g) orizontal (kg) 120 10:1
i load
Maximum Payloa ﬁﬁﬁﬁﬁ (kg) Vertical (kg) X2 40 60 90 100 ONB
S#2 (mm) lead (mm) 256 &
- 60 0.64 0,‘85 lHZB
TEAEHEST (N) Rated thrust (N) 910 0 04 06 08 1 12 14 16 —
— vy 2= 3 N BEE (Mm/s) Speed (mm/s) GCB
*m,ﬁ{j’*% (mm) Stroke pitch (mm) = 150~5050mm/100 1B]P@ 100 mm Pitch
y GCBS
ACRIRS AR E (W) AC servo motor output (w) 750 100 EHE vertically
© So:1 GCRS
BHTE (Mm) Beltwidth(mm) 78 I &
55 ESR
3 70
Ewuﬁagﬁ‘}%m (mm) High rigidity linear guide(mm) 30X26 & 15:1 EMR
50
B 5 R T 88 ghiz 672(NPN) 10 EHR
Home sensor Outside
30 KSR
#1 BIANREIREO.4%. 311 Acceleration and deacceleration value is set 0.4 second. 20
%2 BEERR, BRHNN, RS EENRR, FEE. i it LNP
32 Notice, if the belt breaks, the moving parts will fall when the application is vertical. 0 04 06 08 1 12 14 16
%3 BARRERENE, $127110, %3 Lead is 110mm without gearbox. SEE (mm/s) Speed (mm/s) DDR

Pt — = - q fi
REREE Installation diagram et

BIFAEHIFER N.m Allowable overhang

§?ﬁ'*§M5E§ﬂ§mﬁ§ M5 nuts Qty.(by stroke)

L - X L - . locking plate H
BRHATIE stroke #h & Quantity B RHATIE stroke # & Quantity L 17
tastEEn a1 TR0\
100~500 4 2600~3000 14 1 .
[ dowr\\llockm%Elate
600~1000 6 3100~3500 16 THABIER
HEER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing. 1100~1500 8 3600~4000 18
* EHHX BRI R, BEBRIESIMNEMEN.
1600~2000 10 4100~4500 20 #Top fixing plateis optui;nal. :
5050mm 1280mm/s 750W 78mm 30X26-13% ——— - e ”

ORAMEBRRES RN THR, BAMSERBEERE.

sStandard mounting method is fix from the bottom, using the M5 bolt and nut.

BERAFN Ordering method

TPA-ONB-140-256-L5050-MR-Y-P75B-N3-F

BFREHIFER Nm Allowable overhang

A
B
c A ¢
c A
B

(#{IUnit:mm) (#{IUnit:mm) (#{IUnit:mm) (84ZUnit:N.m)
k&2 R NATE X 5 ME R
Ecand BodyWidth E,J;E Horizzjfnﬁﬁtﬁation A B c side mounting A B c Vertical installation A c Bl ey
90kg | 618 | 71 | 95 90kg | 618 | 71 | 95 10kg 900 900 MP 1700
2 5 Belt : i 10| 105kg | 418 | 31 | 45 | [101 105kg | 418 | 31 | 45 | |101| 25kg 450 450 MR Sy
BB 75 A G: kTl » = = ¢
Motor direction i st Motor power cﬁﬂﬁﬁﬁcﬂe&g 120kg | 257 | 12 | 25 120kg | 257 | 12 | 25 40kg 300 300 NERFRFOISIE, KRB D _
m G: countersunk hole 20:200W : Thetorquevalueinthe chartindicate the center of gravity.
DL AL Zf 10+ 400W 140kg | 570 | 138 | 185 140kg | 570 | 138 | 185 30kg | 900 900 AL FHMER AT RIESHHI10000AE,
N 35 Hl semi seal 212 DR EBHAEM 75: 750W 151 155kg | 335 | 67 | 85 151 155kg | 335 | 67 | 85 151| 45kg 750 750 Operation life s 10,000km when the product s using under the
C 2 Full seal Sead MR EBHINEAIT s 'Spec'f'e‘jc"\”d"'“"i o N
H B sistype 256mm ML EBAVINE A3 1K:1000W 170kg | 238 | 40 | 52 170kg | 238 | 40 | 52 60kg 300 300 EIREATAEBIRANE NERRIEL RS,
By The standard specification cannot be applied to the use of inverted crane.
O BRFL entype LP BHNEEMTH ETTET) 60/90(”23%21) 190kg 304 | 114 130 190kg 304 | 114 130 50kg 900 900 Please consult our business if necessary.
E BAT etctic cyiner LU BHSNEEM S Vitor brad el 01| 205kg | 209 | 67 | 80 | (201 205kg | 209 | 67 | 80 | |20a| 65Kkg | 450 | 450
L B2 B Linear motor RP EEAISNE AN T P AT ransconic G JLEBRE
r otoelectric Mode
K SREBLA wigh gty near actustor 150-5050mm Ry BAANBEMLES M =2 e N: PN 20kg | 166 ) 2 | & 20kg | 166 | 52 | & kg | 300 | 30
G PIERTUAR LA suiltin raillinear actuator (ja1F§100mm) DL Motor left side . :
Gap 100mm DR Motorright side Y R vaskawa P: PNP
D fEI S HR4R simple linear actuator MR Motor external right side H R nera 3PCS
3 . N ML Mot t lleftsid
M EBREFEDA ey i TR e
LU Motor external upper left 1 RE resucer

I} 3% -

RP Motor external lower right
RU Motor external upper right

238 M I e A, e IR £ 1% oh- 8 & M




% ’ 5|5i‘f|‘7ﬂﬂi%*§?ﬂ Semi-sealing Belt Driven Linear Actuator 0 N Bl40 Series : : %

Motion Control Motion Control
EBHSNE LM /BN E RN BHSINELET/ENSIELEL
Motor external left side / Motor external right side Motor external lower left /Motor external upper left
HNR
ﬁ } EBANINE M Motor external left side %ﬁ‘t:Unit:m} ﬁ ’ EBHIMNE T Motor external lower left %{E:Unit:mh —
- - HNB
M8 T-Nut —
24 M8 T-Nut S T S
- i . [ FEMS T LA K 24, 45 o L [ FEMB T Y A g T
v ol
o N = . =
[aN] —
2 \ 2 = / ‘ =
- 4 =2 - | =
R
=5 — — = =
.45
‘ . ‘ o V3 ‘[SE145 ﬁ*ﬁ‘;ﬂ lid strok Eﬂ; 145
ATHE vali 140 PR145, AT FE valid stroke oA !
Aﬁﬁ%{g‘fi valid stroke - ft{ff m}iis Teft [Limit145 22 4= 59 10MM safe distancelOmn right [Imit145
LA PEBS10MM safe distancelOmn ¢ | o o
1 o B GCB
| (= = e
o <
= | N GCBS
140 - I 190 GCRS
190 S—
2 x 8 2x @ 8
"ﬁ 110 o 'jl 110 ESR
of 43.20 S T : of 4320 q =
8 2 g = &= = EMR
)] H = H =
7 E E i s = EHR
8 x M8 8 x M8
KSR
CREBHMEEIRER “Excluding motor and mounting plate weight FEBNAMREIRER *Excluding motor and mounting plate weight LNP
BHITE BRITE
Stroke 2050 Lt 150 250 350 -
L 814 | 914 | 1014 | 1114 | 1214 | 1314 | 1414 | 1514 | 1614 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 | 3014 | 3114 | 3214 L 710 | 810 | 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 | 2710 | 2810 | 2910 | 3010 | 3110 '?f%‘ﬁﬂ
ererence
KG 26.9 | 28.7 | 30.5 | 32.3 | 34.1 | 35.9 | 37.7 | 39.5 | 41.3 | 43.1 | 449 | 46.7 | 48.5 | 50.3 | 52.1 | 53.9 | 55.7 | 57.5 | 59.3 | 61.1 | 62.9 | 64.7 | 66.5 | 68.3 | 70.1 KG 269 | 28.7 | 30.5 | 32.3 | 34.1 | 359 | 37.7 | 39.5 | 41.3 | 43.1 | 449 | 46.7 | 48.5 | 50.3 | 52.1 | 53.9 | 55.7 | 57.5 | 59.3 | 61.1 | 62.9 | 64.7 | 66.5 | 68.3 | 70.1 data
BHITE BHITE
Stroke Stroke
L 3314 | 3414 | 3514 | 3614 | 3714 | 3814 | 3914 | 4014 | 4114 | 4214 | 4314 | 4414 | 4514 | 4614 | 4714 | 4814 | 4914 | 5014 | 5114 | 5214 | 5314 | 5414 | 5514 | 5614 | 5714 L 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610 | 4710 | 4810 | 4910 | 5010 | 5110 | 5210 | 5310 | 5410 | 5510 | 5610
k KG 719 | 73.7 | 755 | 77.3 | 79.1 | 80.9 | 82.7 | 84.5 | 86.3 | 88.1 | 89.9 | 91.7 | 93.5 | 95.3 | 97.1 | 98.9 [100.7|102.5|104.3|106.1 |107.9{109.7 |111.5|113.3 |115.1 J k KG 719 | 73.7 | 755 | 77.3 | 79.1 | 80.9 | 82.7 | 84.5 | 86.3 | 88.1 | 89.9 | 91.7 | 93.5 | 95.3 | 97.1 | 98.9 [100.7|102.5|104.3|106.1 107.9{109.7 |111.5|113.3 |115.1 j
ﬁ l EE*HM‘EEWJ Motor external right side ﬁ{ﬁ:Unit:mN ﬁ ’ EHINE A £ Motor external upper left - Eﬁi:Unit:mh
—A
M8 T-Nut
! )
24 " M% T-Nut ; 2 L] FEMST L2 £}
L FEMS TR 2 ] £
i — : =
~ ~ ] 7 — -
= | o
— 7 g — ﬂiﬂ -
45 =
: w =
260 A RATHE valid stroke o AR5 i :
left|limit145 ﬁ%ﬁﬁ%lOMM safe distancelOmn right 1imit145 = ] d b
A D " 140 22 4R B510MM safe distancelomn
it
- 190, TeRAIR145 260 B AATHE valid stroke 4ikebR145
left {imitl45 right [Timi t145
140 ‘ L |
190
. gy 90,0
_ Sl 320 9 ]
S 220 o ﬂ i © D @ f = .
4 S 7 =
= = —— H —
- 7 B = = = d
8 x M8 8 x M8
CAEBENAMZERER *Excluding motor and mounting plate weight *REBHMLERER *Excludingmotor and mounting plate weight
BRI BRI 150 250 350 650 750 850 950 1050
Stroke Stroke
L 814 | 914 |1014 | 1114 | 1214 | 1314 | 1414 | 1514 | 1614 | 1714 | 1814 | 1914 | 2014 | 2114 | 2214 | 2314 | 2414 | 2514 | 2614 | 2714 | 2814 | 2914 | 3014 | 3114 | 3214 L 710 | 810 | 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 | 2710 | 2810 | 2910 | 3010 | 3110
KG 26.9 | 287 | 30.5 | 32.3 | 341 | 359 | 37.7 | 39.5 | 41.3 | 43.1 | 44.9 | 46.7 | 48.5 | 50.3 | 52.1 | 53.9 | 55.7 | 57.5 | 59.3 | 61.1 | 62.9 | 64.7 | 66.5 | 68.3 | 70.1 KG 26.9 | 287 | 30.5 | 32.3 | 34.1 | 359 | 37.7 | 39.5 | 41.3 | 43.1 | 44.9 | 46.7 | 485 | 50.3 | 52.1 | 53.9 | 55.7 | 57.5 | 59.3 | 61.1 | 62.9 | 64.7 | 66.5 | 68.3 | 70.1
BXITE BRITE
Stroke Stroke
L 3314 | 3414 | 3514 | 3614 | 3714 | 3814 | 3914 | 4014 | 4114 | 4214 | 4314 | 4414 | 4514 | 4614 | 4714 | 4814 | 4914 | 5014 | 5114 | 5214 | 5314 | 5414 | 5514 | 5614 | 5714 L 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610 | 4710 | 4810 | 4910 | 5010 | 5110 | 5210 | 5310 | 5410 | 5510 | 5610
K KG 71.9 | 73.7 | 755 | 77.3 | 79.1 | 80.9 | 82.7 | 84.5 | 86.3 | 88.1 | 89.9 | 91.7 | 93.5 | 95.3 | 97.1 | 98.9 |100.7 |102.5 |104.3 |106.1 |107.9|109.7 |111.5|113.3|115.1 / K KG 719 | 73.7 | 755 | 77.3 | 79.1 | 80.9 | 82.7 | 84.5 | 86.3 | 88.1 | 89.9 | 91.7 | 93.5 | 95.3 | 97.1 | 98.9 | 100.7 |102.5|104.3|106.1|107.9|109.7 |111.5|113.3|115.1

—— IR ES-E S M A

3% -8 € M ——"




% > ¥§‘T|‘7HE%*§QE Semi-sealing Belt Driven Linear Actuator O N B 140 Series / \ : k %

Motion Control Motion Control
Motor external lower right /Motor external upper right
HNR
/‘ , FBHIMNEG T Motor external lower right %ﬁ:Unit:mn el
- HNB
HCB
N8 T-Nut
1 TENBT I 4 T
B \ )
S
Aol 7 = =
24 45 * -
190 ‘ L |
140 JPIR145, 260 HHATHE valid stroke o ATHH145
feft initl15 A B10MM safe distancelOm right linit145
h
© =
I 7>/ W GCB
%
@, N GCBS
9 GCRS
1
2x @ 8
110 ESR
S 220 o = = = EMR
R =1
U = SEE——
L7 = = EHR
8 x M8
KSR
AEHEHAREIREE *Excluding motor and mounting plate weight LNP
BHITE
Stroke 2350 2450 -
L 710 | 810 | 910 | 1010 | 1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 | 2710 | 2810 | 2910 | 3010 | 3110 Ri;!f%ﬁﬂ
eference
KG 269 | 28.7 | 30.5 | 323 | 34.1 | 359 | 37.7 | 39.5 | 413 | 43.1 | 44.9 | 46.7 | 485 | 50.3 | 52.1 | 53.9 | 55.7 | 57.5 | 59.3 | 61.1 | 62.9 | 64.7 | 66.5 | 683 | 70.1 data
BHITE
Stroke
L 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610 | 4710 | 4810 | 4910 | 5010 | 5110 | 5210 | 5310 | 5410 | 5510 | 5610
k KG 719 | 73.7 | 755 | 77.3 | 79.1 | 80.9 | 82.7 | 84.5 | 86.3 | 88.1 | 89.9 | 91.7 | 93.5 | 953 | 97.1 | 98.9 |100.7|102.5 104.3|106.1 |107.9|109.7|111.5|113.3|115.1 J

/‘ ) BiIMERL Motor external upper right B :Unit: mh

A
231. 50,
24 M8 T-Nut
] L T ZEMS TR 5
2 { M =
= \ =
Gl z = —
45 —a
©
] m=a ||
140 44 JH 35 10MM safe distancelOmn
FERRIR145 260 A BT valid stroke =t 145
190
left limit145 L right|limit145
I 1
190
110 2x @ 8
= 3.20
S =2 o :
) %
LT =
|
8 x M8
PREBHMEEIRER “Excluding motor and mounting plate weight
BHITE
Stroke
L 710 | 810 | 910 | 1010|1110 | 1210 | 1310 | 1410 | 1510 | 1610 | 1710 | 1810 | 1910 | 2010 | 2110 | 2210 | 2310 | 2410 | 2510 | 2610 | 2710 | 2810 | 2910 | 3010 | 3110
KG 26.9 | 287 | 30.5 | 32.3 | 341 | 359 | 37.7 | 39.5 | 41.3 | 43.1 | 44.9 | 46.7 | 48.5 | 50.3 | 52.1 | 53.9 | 55.7 | 57.5 | 59.3 | 61.1 | 62.9 | 64.7 | 66.5 | 68.3 | 70.1
BHITE
Stroke
L 3210 | 3310 | 3410 | 3510 | 3610 | 3710 | 3810 | 3910 | 4010 | 4110 | 4210 | 4310 | 4410 | 4510 | 4610 | 4710 | 4810 | 4910 | 5010 | 5110 | 5210 | 5310 | 5410 | 5510 | 5610

k KG 719 | 73.7 | 755 | 77.3 | 79.1 | 80.9 | 82.7 | 84.5 | 86.3 | 88.1 | 89.9 | 91.7 | 93.5 | 95.3 | 97.1 | 98.9 |100.7|102.5|104.3 |106.1 |107.9|109.7 |111.5|113.3 |115.1 J K

3% -8 € M ——"

—— IR ES-E S M A




=24 24
A% o A% o

Motion Control

Motion Control

FalEEESEIIT Product performance parameters are as follows RE-fTEMLEE] Acceleration-payload relationship HNR

4 " HCR
4=y
/EERE —— o Cooe
Repeat Accuracy EEE{M‘*EE(mm) i i\ ) - IKF AMEBER horizontal, side use HNB
i O 05 Eyﬁt}fﬁ (mm) Rated Speed (rpm/min) 500 [1000/| 1050|2000 | 2500 | 3000 32 HCB
mm . i e
%%EE (mm/s) Maximum speed (mm/s) 750 11500/ 2250|3000 | 3750 | 4500 2% HNT
RAAMESE JKFAERD (kg) Horizontal(eg) | 32 | 26 | 18 | 10 | 6 | 3 Xvz
Maximum Payload 18
S8 (mm) tead (mm) 90 ot ONB
. #@E 10
TEAEHEST (N) Rated thrust (N) 134 5
&
FRAEFTAZ (Mm) Stroke pitch (mm) 150~3050mm/100 (&R 100 mm pitch ¢ GCR
GCB
ACEBREIABE (W) AcCservomotoroutput (w) 750 3
GCBS
0
B2 BEEE (Mm) Beltwidth(mm) 30 750 1500 2250 3000 3750 4500 e
BEFLEE (mm/s) Maximum speed (mm/s)
%muﬁggﬁ%m (mm) High rigidity linear guide(mm) 30X26 ESR
WU EERRHIESE TANERBAERTREE).
= L+ *Please refer to the moment diagram below.(Do not reach all maximum EMR
J?‘Q’f‘e%ngrgg Oguts};i:e 672(NPN) value at same time.) I " e
EHR
1 DIANREIZEO.4FD0
31 Acceleration and deacceleration value is set 0.4 second. K
SR
BB IIFER N.m Alowable overhang REETREE Installation diagram LNP
DDR
STIEMSEER IR uplockinglt y 1 feerenc
718 A M5 nuts Qty.(by stroke) ! eference
. = - toEes  |Fon 2R data
BRATIE stroke 150~950 150~1450 150~1950 2050~2450 2500~3050 =
I down locking plate
#48 Quantity 6 8 10 12 14 ~— TFHiEER
¥BATRAEREA A TH, EAMSERIEEEE. ¥ LA BEERIFAT AR, BE R RIS INEMEM,
#Standard mounting method is fix from the bottom, using the M5 bolt and nut. #Top fixing plate is optional.
BIFHESIER N.m Allowable overhang BESEIFAEHIRE static loading moment
HEER#HSE, BT LR ERE
This picture for reference only, specs details according with the drawing.
A
3050mm 4500mm/s 750W 30mm 30X26-1% ¢ A .
[o]
B
(B {IUnit:mm) (B {IUnit:mm) (B4IUNit:N.m)
% Sy % Caidics
gg%;_eitjj_it Ordering method Horizz}rﬁzﬁﬁation Spee?%)?mum Horizﬂ!\Eﬁtﬁation Speed Maximum Ry B
3kg 4500mm/s | 618 7 95 3kg 4500mm/s | 618 7 95 MP 680
6kg 3750mm/s | 418 31 45 6kg 3750mm/s | 418 31 45 MR 144
% 10kg 3000mm/s 257 12 25 % 10kg 3000mmy/s 257 12 25 *HRERFARTHIHIE, A RE D
- - - - - - — — - 2 2 Thetorquevalueinthe chartindicate the center of gravity.
90 | 18kg 2250mm/s | 570 | 138 | 185 90 | 18kg 2250mm/s | 570 | 138 | 185 A RSAEIIE LA T RIEE®H100002E,
Lead 26k 1500 Lead 26k 1500 Operation life is 10,000km when the product is using under the specified conditions.
- S g mm/s | 335 | 67 | 85 8 mm/s | 335 | 67 | 85 BREREAE RIS B BRAERALS,
32kg 750mm/s 238 40 52 32kg 750mm/s 238 40 52 The standard specification cannot be applied to the use of inverted crane.
Please consultour business if necessary.

mhE A FR RIRTE X .
Brand Body Width s EfEARDIA—YFR Suitable motor brand
FZHT Belt :
Iy B3 e HEBE SEER EREE ARDARS g s
Motor direction Y: threaded hole olorpower Cusmwspe"cial et Brake Motor capacity AC-Voltage Servo motor model Driver Model
— 6: countersunk hole ig iggw N
g - : = FRECRTE

N 2 Plsemi seal Sz DR B 75: 750W Mitsubishi M Nobrake(}SZﬂzon;ltyP)e) 750 220 HG-KR73 MR-J4-70A

C 2%} Fullseal el MR EBHINEAIT N
H BT Jsee 90mm ML SN i ooty
O A entype i LP BASELNTS  prerge 60/S0(AZH) #E P e cowiea ) 750 220 MHMD082G1U MBDHT3520
E Egﬁ¥ Slectriccylinder LU @*}L%EE@ULH Motorggnd ” Panasonic o brake (horizontal type)
L L5 cnear motor L0080 RP BHMEEMTS P AT ponsoni e e
K SAEARLE High rigidity linear actuator - mm RU BHINEEM LS M = viteubishi o &35 FFIZE (KT
G WHERTCIE R uiltin rail linear actuator (/81P@100mm) DL Motor leftside .a_-.% itsabishi N:NPN Delta U Nobrake (horizontal type) 0 220 ECHMA-C20807ES ASD-B20721-8

Gap 100mm DR Motorright side Y R vaskawa P: PNP
D BB HELH simple linear actuator MR Motor external right side H o R nera 3pCS
N Motor external left side
M B IR A B3E irect drve rotary motor LMPL Motor external lower left T &3 pelta FAFIB: T None
LU Motorexternal upper left 3 ] reducer

RP Motor external lower right
RU Motor external upper right

A I 2% S-S M I Ty . WY X 55 ff o E iE WM I




m ’ ¥§TWE%*§2§ Semi-sealing Belt Driven Linear Actuator O N B 120 FSerieS 4 , | : : i{%@ @

A4k

Motion Control Motion Control
BALAEM/ AN
Motor left side / Motor right side
HNR
/‘ ’ BB motor left side %{ﬁ:Unit:mn —
M8 T-Nut —n HNB
Y ST
o
N HCB
£ — — — — -
HNT
@ )
L
fR115 210 A AITHE valid stroke AR5
120 lefy limitlL %A FEBS 10WM safe distancelOmn vight lipitlls
GCB
- - e
j=1 o L
i - -E GCBS
GCRS
St e 10.20 R
j& LONNO N 0 LD 6 x M5
EMR
3.20 &l 0 ST 90
e 6. 50 IEmaRERan) e
24 [ EHR
A4 —
61. 50 8 x M6 KSR
107
CAEHEHAREIRERE *Excluding motor and mounting plate weight LNP
BT
Pl 1050 1150 1650 DDR
L 600 700 800 900 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500 :Sf%ﬁﬂ
eference
KG 144 | 158 | 172 | 186 | 20 | 214 | 228 | 242 | 256 | 27 | 284 | 298 | 312 | 326 | 34 | 354 | 368 | 382 | 396 | 41 data
BT
Stroke
L 2600 | 2700 | 2800 | 2900 | 3000 | 3100 | 3200 | 3300 | 3400 | 3500 | 3600 | 3700 | 3800 | 3900 | 4000 | 4100 | 4200 | 4300 | 4400 | 4500

k KG 42.4 43.8 45.2 46.6 48 49.4 50.8 5728 53.6 55} 56.4 57.8 | 59.2 60.6 62 63.4 64.8 66.2 67.6 69 j
/( ’ EE*J‘LEMIJ Motor right side B :Unit: m}

-4

M8 T-Nut
SRR RN T R
A, =
=
[~
/ _ _ _ _ _
—l
| L )
75;&[5&115 , B RATHE valid stroke EJI‘&KAQS
lefq Limi AP B 10MMsafe distancelOmn right limit115
..

O

61. 50 8 x M6

PAEHEHAREIRER Excludingmotor and mounting plate weight

BT
Stroke UG
L 600 700 800 900 1000 | 1100 | 1200 | 1300 | 1400 | 1500 | 1600 | 1700 | 1800 | 1900 | 2000 | 2100 | 2200 | 2300 | 2400 | 2500
KG 14.4 15.8 72! 18.6 20 21.4 228 24.2 25.6 27 284 29.8 312 32.6 34 354 | 36.8 | 382 | 396 41

BT

Stroke

L 2600 | 2700 | 2800 | 2900 | 3000 | 3100 | 3200 | 3300 | 3400 | 3500 | 3600 | 3700 | 3800 | 3900 | 4000 | 4100 | 4200 | 4300 | 4400 | 4500

k KG 424 | 438 | 452 | 466 | 48 49.4 | 50.8 | 522 | 536 55 56.4 | 57.8 | 59.2 | 60.6 62 634 | 648 | 66.2 67.6 69 / K

3% -8 € M ——"

—— IR ES-E S M A




	页 175
	页 176
	页 177
	页 178
	页 179
	页 180
	页 181
	页 182
	页 183
	页 184
	页 185
	页 186
	页 187
	页 188
	页 189
	页 190
	页 191
	页 192
	页 193
	页 194
	页 195
	页 196
	页 197
	页 198
	页 199
	页 200
	页 201

